www.prepp.in

prepp

Your Personal Exams Guide

UGC NET PAPER 2 NOVEMBER 22, 2021 SHIFT 1 YOGA QUESTION PAPER

Topic:- GP_Set5_A

1 The following table embodies the details about the enrollment of students in five different
actlvities namely Swaimming, Singing. Drawing, Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
In various activities in the school. Based on the data in the table, answer the questions 1-5 :

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Giuls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 29%

T H. 1-5

frifiea Ao @ 2020-21 % 3RM fremem #§ wm e frarmemt T R, TR, Rk, T3
3R zEafien § faenfiEl % A w0 g 3| frnem O s Semengt @ 1750 sTnett wfem wa
3000 FerenfS=t =1 AmTHa oI B1 A1 H U3 3TFRS % SNYR W UYA W, 1-5 % S S ;

it =1 BrareTER T
foraTRe amifeRa faeniemt = afdw (%) | Avisea gt = gfawa (%)
(3000 # /) (1750 5 @)

e 16% 14%
g 21% 28%
IEFERR 14% 16%
T 24% 20%
segierey 25% 22%

What is the approximate percentage (%) of boys in the school?

(1) 42% (2) 28%
(3) 34% (4) 50%

freme % wat w5 afiwe e (%)

(1) 42% (2) 28%
(3) 34% 4) B50%

[Question ID = 4849][Question Description = Q01_GP_22NOV_S1_SHAAN_Shift1]
. 1 [Option ID = 18859]
2 [Option ID = 18860]
3 [Option ID = 18861]
. 4 [Option ID = 18862]

oW

2) The following table embodies the details about the enrollment of students in five different
activities namely Swimming, Singing. Drawing, Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
In various activities in the school. Based on the data in the table, answer the questions 1-5 :

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Giuls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Nancing 240 aNos,
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Handicraft 25% 22%

T H. 1-5

frifira AT W 2020-21 % 3RM fremem § wm fAfE St T R, TR, REed, T3
3R zEafien § fEnfiEl % e w0 g 2| frEmem 4 fafiw Semenat @ 1750 sTnett wfem wa
3000 Ferenf=i =1 AT oI B1 AT H U3 3TFRS H YR W UTT W, 1-5 F TG ;

it =1 BrareTER T
IERIEzain amifeea fernfeat = afdwa (%) | AmaiTeRa BEmeT %1 giawe (%)
(3000 # /) (1750 % ®)

RRE 16% 14%
g 21% 28%
IEEER 14% 16%
T 24% 20%
srqierey 25% 22%

How many boys are enrolled in Singing and Handicraft taken together?

(1) 485 (2) 505
(3) 420 (4) 585

A R TEleT ¥ §IF &9 ° e o amitea 27

(1) 485 (2) 505
(3) 420 (4 585

[Question ID = 4850][Question Description = Q02_GP_22NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 18863]
2. 2 [Option ID = 18864]
3. 3 [Option ID = 18865]
4. 4 [Option ID = 18866)

3) The following table embodies the details about the enrollment of students in five different
activities namely Swimming, Singing. Drawing, Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
In various activities in the school. Based on the data in the table, answer the questions 1-5 ;

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Giuls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 29%

T H. 1-5

frifiea anfe T 2020-21 % 3RM fremem # wm BfE Srarmemt T R, TR, REek, T3
3R zEatyen § fenfis % s w0 g 3| fomem 4 fafiw Semeenat @ 1750 sTnett wfem Fa
3000 Forenf=i =1 AR oI B1 AT H U3 3TFRS H YR W UTA W, 1-5 F S S ;

et =1 BrareTeER T
TraTRe AR faeniemat = afdwg (%) | Arisea gEne = gfawd (%)
(3000 7 /) (1750 % ®)

aui 16% 14%
-+ 21% 28%
EEEAL 14% 16%
T 24% 20%
gy 25% 22%
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What is the total number of girls envolled in Swimming and Drawing taken together?

(1) 505 (2) 515
(3) 595 (4) 535

Jueht TR Famerl W Tae w9 A A fpadt grne = e 27

(1) 505 (2) 515
(3)  52b (4) 535

[Question ID = 4851][Question Description = Q03_GP_22NOV_51_SHAAN_Shift1]

1.

1

[Option ID = 18867]
2

[Option ID = 18868]

i3

[Option ID = 18869]
4

[Option ID = 18870]

4 The following table embodies the details about the enrollment of students in five different

activities namely Svumming, Singing. Drawing, Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
In various activities in the school. Based on the data in the table, answer the questions 1-5 :

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 29%

T H. 1-5

frmifea arferm @3 2020-21 % 3R Frarem ¥ wm Bfvw Srareaml T S, TR, REed, T
3R weaferey o foenfoE= & e ® et 2| fraem 4 fafie Gearsenat & 1750 sonedt Ofgm g
3000 fERmf¥=t =1 T 5T 21 AT | UaT TS B MUK W UTA |, 1-5 F SW I

et w1 ramreTE i
ERIETe iR farenf¥mt = wfama (%) | TmifRa @net & ufawa (%)
(3000 ¥ #) (1750 ® @)

TRl 16% 14%
T 21% 28%
lEPEan 14% 16%
T 24% 20%
TEaEeT 25% 22%

The number of girls enrolled in Dancing forms what percent (%) of the total number of
students in the School? (Round-off to two digits)?

(1) 9.32% (2) 10.67%
(3) 11.67% (4) 14.67%

Tcd ® AHifRa g 1 @ fameE o el B pe wen = fraw slkima (%) ? (S@% I |
quifeh S 9) 7

(1) 9.32% (Z) 10.67%
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(3) 11.67% (4) 14.67%

[Question ID = 4852][Question Description = Q04_GP_22NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 18871]
2. 2 [Option ID = 18872]
3, 3 [Option ID = 18873]
4, 4 [Option ID = 18874]

%) The following table embodies the details about the enrollment of students in five different
activities namely Swvimming, Singing. Drawing, Dancing and Handicraft in a School durng
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
In various activities in the school. Based on the data in the table, answer the gquestions 1-5 :

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 29%

T H. 1-5

e Ao W 2020-21 % 3RM fremem # wm BAfE Srrmamt T R, TR, ek, T3
SR zEafaed # faenf¥= % THiwa i gmdn 2| foemem A fafes Seamsemat #1750 SEnet wa 3w
3000 fanfSiat =1 Fmra gon 2| AUerR § Y S % SMYR WUTA 8. 1-5 % S E ;

i =1 BrarTeTER T
ToraTRe AR faenieat = afdwg (%) | Amised gEne = gfawa (%)
(3000 # /) (1750 ® ®)

RE 16% 14%
g 21% 28%
IEFERR 14% 16%
T 24% 20%
TEafEey 25% 22%

What 1s the ratio of the number of girls enrolled 1n Swimming to the number of boys enrolled
1 Swimming?
(1)  59:49 @ 23:29

(3) 33 : 43 (4) 49:47

bt 1 mrifeRd BEMAT 1R BET R U = 27

(1) 59 : 40 (2) 23:29

(3) 33:43 (4) 49:47

[Question ID = 4853][Question Description = Q05_GP_22N0V_51_SHAAN_Shift1]
1. 1 [Option ID = 18875]
2. 2 [Option ID = 18876]
3. 3 [Option ID = 18877]
4, 4 [Option ID = 18878]

Topic:- GP_Seth_B
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1) Which of the following is designated as key behaviour of effectiveness of teaching as evident from researches?

(1) Using student ideas and contribution (2) Structuring
(3) Teacher task-orientation (4) Teacher affect
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HTAGE! |, THIET T 1 HeF SUFeR e JET T g ¢

(1) FrofE % G ok aimem =1 suam
2) AT
(3)  Tineger ol srfimpdim

(4)  Toers gEvEemEn

[Question ID = 4854][Question Description = Q06_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 18879]
2. 2

[Option ID = 18880]
3.3

[Option ID = 18881]
4. 4

[Option ID = 18882]

2) Ildentify the indirect teaching strategies from the following list :

(A) Gaining attention, informing the learner of the objective and presenting the stimulus material
(B) Concept building through examples and non-examples

(€) Explaining, exemplification and practice

(D) Problem based presentation with pair-share technique

(E) Encouraging students to use references from their own experiences

Choose the correct answer from the options given below :

(1) (B), (D) and (E) (2) (A), (B} and (C)
(3) (B), (C) and (D) (4) (C), (D) and (E)

Fenfea gt @ sea oo weEitE = fafee Hifs

(A) AT, STl I e T WA S TS IR TR FE
(B) I FHR -GN % qIEAH | SEERen - HEi

(C) TEIEEF, AR MaTe 3R ST

(D) TuF-ultied g % W1 THE- e T

(B) forentii =i 506 o104 o9l @ 9o o4 % fore diemntsa e

I oo 7o fmea 4 o 931 SR ® 99 e -

1 B, D) 3 (E)
@ (A B IR (C)
(3)  (B). (O3 (D)
@ (©). D)3 (E)
[Question ID = 4855][Question Description = Q07_GP_22N0V_51_SHAAN_Shift1]

Tl

[Option ID = 18883]
2. 2

[Option ID = 18884]
3.3

[Option ID = 18885]
4. 4

[Option ID = 18886]

3) Match List | with List Il ;
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List | List Il

Modalities of Teaching Implementation

(A) Instruction (1) One way imposition of ideas from the teacher to the students
(B) Training (Il) Associative presentation of ideas from teacher to students

(C) Conditioning (lll) Disciplined drill conducted by teacher

(D) Indoctrination (IV) Active interchange of ideas between teacher and students

Choose the correct answer from the options given below :

(1) (A)-(ID), (B)-(), (C)-(I¥), (D)-(lIT) (2) (A)-(1}, (B)-(1D), (C)-ClN1}, (D)-(IV)
(3) (A)-(IV), (B)-(I1), (C)-(1), (D)-(D) (4) (A)-(I), (B)-(1V), (C)-(1}, (D)-(I)

-1 % wy gh-I1 =1 e Hifsg
-1 eI

(A)  TETE () faentd=i = e % T = THaH
ST

(B) i (I) Torer o faenfd=i =t fmmd £ ae=nd wgha

(C) FeFeH (IIT) Torerh g/ SEfera STIoa STEATH

(D) HaARY (IV) ferenfeiat aii forere o it femt =61 ol
AGH-TEH

I fou e feredt ¥ O T ST F =999 Hife :

1) @Q)-aDh. (B)-(D). (C)-(1V). (D)-(11I}
2y A1), B)-dD. (C)-{IID). (D)-(1V)

3y  (A-IV). B)-dID). (C)-ID). (D))
4y  (A)-1ID. (B)-{IV). (C)-(D), (D)-(1D)

[Question ID = 4856][Question Description = Q08_GP_22N0OY_51_SHAAN_Shift1]
1. 1 [Option ID = 18887]
2. 2 [Option ID = 18888]
3. 3 [Option ID = 18889
4. 4 [Option ID = 18890]

4) Given below are two statements :

Statement | : Computer based testing promotes objectivity in assessment processes.

Statement |l : Choice-based credit system in Indian Higher Education is a new entry,

In the light of the above statements, Choose the most appropriate answer from the options given below

(1) Both Statement | and Statement |l are correct, (2) Both Statement | and Statement |l are incorrect,
(3) Statement | is correct but Statement Il is incorrect. (4) Statement | is incorrect but Statement |l is correct.

TRammftems .

=97 (D) : Hoge - el wievr ¥ siehe qieanst A aegedar i sgmEr e 2

=y (1) : ura § 5= foren o faspen-sneanfia »ise wonelt v 73 =awen 2

SUURE Y % I 4, T T T feedi § @ gee ST ST W 9 iR

(1) = Q) A I FH g 2
@)  we (I) 3 qD) gt Tea B
(3) A (1) wal &, SfT %9 (1) 1o 7
(4)  FwF (1) 7 8, | FE A1) T2

[Question ID = 4857][Question Description = Q09_GP_22N0V_S51_SHAAN_Shift1]
| 1. 1 [Option ID = 18891]
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| 2. 2 [Option ID = 18892]
3. 3 [Option ID = 18893]
4. 4 [Option ID = 18894]

%) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : Teaching support system whether traditional or modern is purportedly put in place for effecting economy and
ensuring quality in teaching-learning transactions.

Reason (R) : Learning outcomes in order to be congruent with stipulated instructional goals need scaffolds to begin with.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R} is the correct explanation of (A). (2) Both (A) and (R) are correct but (R} is
NOT the correct explanation of (A).
(3) (A} is correct but (R) is not correct, (4) (A) is not correct but (R) is correct,

H9 & # T8 Mo ¥ : w A (Assertion A) % wq i fafiad 2 @ gww 3wH 0 (Reason R) %

-
A

ST (A) : 1o e YvIeTt, RARGE SIS, T Sevd TSR W Uge BN IR
Traqor-siter wisen § queEn # gRizeE w5 2

F (R) : foreror wfowl =1 et SFRTETeT SE % SIS S % O oY § UF ST
e F sTaTEEal Tt 2

ST Bl B AE® °, A9 Ge T fameni 8 ¥ aeE STIRe S T 99 g

1) Q)@ A EE E 3 (R). (A) B wd = 2

@) (A) IR R) T T E, A0 (R). (A) B TE = T 2
(3 (A)TEE, A (R) TE T R

@ Qe AR ®) R

[Question ID = 4858][Question Description = Q10_GP_22N0V_S51_SHAAN_Shift1]
1. 1 [Option ID = 18895]
2. 2 [Option ID = 18896]
3. 3 [Option ID = 18897]
4, 4 [Option ID = 188%8]

6) In which method of research an independent variable is manipulated with an intent to observe concomitant changes in
dependent variable?

(1) ExPost Facto method (2) Case study method
(3) Descriptive survey method (4) Experimental method

A = 5 Weadl TiEdA B e o, R semam gonel] 8 e WY 20 e S 27

(1)  FER vone (2) =ATE eI Yo
(8)  FAUFITHT W& SO (4) TS ST

[Question ID = 4859][Question Description = Q11_GP_22NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 18899]
2. 2 [Option ID = 18900]
3, 3 [Option ID = 18901]
4, 4 [Option ID = 18302]

7) Identify the features of empirico-inductive paradigm of research

(A) Research is concerned with the process rather than simply with outcomes or products
(B) Based on logical positivist philosophy which assumes a single objective reality

(C) Researchers are concerned with what are called ‘participant perspectives’

(D) Attempts to establish universal context free generalizations

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only {2) (B) and (C) only
(3} {C) and (D) only (4) (A) and (C) only

FAEYUN = SpArEtas TS Tiaam 6 et = i il
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&)
(B)

Q)
(D)

FIEYH T HEY AR § 2 A T = IemE s16E Sog |
a1 Teamar 2o O Tuiiia St el SEYATeNE anataeRaT i o 9T e 2
STTEYTFHAl 9P IRaT % 9 ST B 2

IO FE T ATEE S A F T F 3

= oo o foepedl 1 @ UeE ST SR W 9O T

(1)
(2
3
(4)

A (A) ¥R (B)
#Fae (B) 3R (C)
et (C) R (D)
Fa (A) R (C)

[Question ID = 4860][Question Description = Q12_GP_22ZNOV_51_SHAAN_Shift1]

oW R

1 [Option ID = 18903]
2 [Option ID = 18904]
3 [Option ID = 18905]
4 [Option ID = 18906

8) Match List | and List Il
List | List Il

Sampling Methods
(A) Simple Random Sampling

this

(B) Stratified Random Sampling
(C) Cluster Sampling
(D} Snowball sampling

Procedure involved
(I) The first member is used as an informant to identify other. The process goes on like

(Il) The units are chosen intact on the basis of their settings
{lll) The units are chosen from defined groups/levels randomly
(I¥) The units are chosen by giving equal and independent chance to each

Choose the correct answer from the options given below ;

(1) (A)-(1), (B)-(I), (C)-(IN), (D)-(IV})
(3) (A)-(l11}, (B)-(1V), (C)-(D), (D)-(I1)

g I % w1 g1 = frem i
F=-1
vfeest woneht
(A)  TE= Tgfesh afaes
(B) wiFa agfas vloat
(C) Forrey ufaew
(D) TETe ufed
i3 fow o faweat § ® @) 3T = 959 Fiw
(1) (A)-(D). (B)-(II). (C)-(III}. (D)-(IV)
2)  A)-aQV), (B)-(ID), (C)-(ID), (M)-M)
(3)  A-dID. (B)-aV), (O)-(D. M)-(ID
(4) (A)-ID), (B)-(I). (C)-(IV). (D)-(11I)

(Z) (A)-(IV}, (B)-(11}, (C}-(11}, (D)-(1)
(4) (A)-(I1}, (B)-(), (C)-(IV), (D)-(IIN)

TH-11
wnfier = fafY

M w99 @ W FA W fHEad w9
YEATIEET b w0 ¥ W R o 8| A"
wfseen geft e A el @t 2

(II) =ohrsal o1 == ST oo % AER W
T9Ter T S 21

D) zedl w1 wA wRefa wE/e @
g w1 1 & o 2

(IV) THEA 1 T TDF B GHA IR =
ST &R 3R ST 2

[Question ID = 4861][Question Description = Q13_GP_22NOV_51_SHAAN_Shift1]

1.1

[Option ID = 18907]

2. 2

[Option ID = 18308)]

3 3

[Option ID = 18909]

4. 4

[Option ID = 18310]
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9) Given below are two statements :
Statement | ; Action Research is used primarily to improve a given situation by a practitioner.
Statement Il : Applied research is directed at exploring applicability of principles already established.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct.
(3) Statement | is correct but Statement Il is incorrect,

A 2 e fou e E
w7 (I) : SeaTd! SERT FTEUE T I Yaa: Yea ahfefs ¥ gaga g e 2|
F (D) : SR AT [-TUE fagial =l TS 5 3579 * =M i 57 3@ 7 2

ST B F IErs 4, f G T Twed § U o SUTE ST W W HIe

(1) @[ () =R (1D g1 ot 3
(2) =2E (D) 3 (1D T Td B
(3)  =rE (D) Ed 2, et s (1D T 2

(4)  FeE (D) 7o 2, ST weE (1) Tat 2

[Question ID = 4862][Question Description = Q14_GP_22N0V_51_SHAAN_Shift1]

B R L ]

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

. 1 [Option ID = 18911]
2 [Option ID = 18912]
3 [Option ID = 18913]
4 [Option ID = 18914]

Assertion (A) : A research thesis has to follow a prescribed format and style of referencing.
Reasons (R) : This ensures the observance of research ethics.

n the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both {A) and (R) are correct but (R) is NOT the correct explanation of (A).
(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct,

I @ 7o fig 3 oF aIfiFYs (Assertion A) ¥ ¥ # fofan ® ot 390 39 FRW (Reason R) #

E‘Iﬁ:

stffEaT (A) WMag-Tsy A T faFa wew wa wedmm A ubem w0 sEmed w
TS 2l

F R) : 79 i @ oigau™ § amEm A w1 eruren ghifee @ s )

ST FA T AF °, A9 i e fawest § ¥ g SugE ST @ 99 AT

Q) (A 3R (R) FA G £ R (R), (A) I adt sE

@) (A 3R (R) A T E, AR R). (A) B w5 =wen w1 2

(3 (AT, ofF ®) od T 2

@) (A =S AE g, dfe R) T8 2

(2) Both Statement | and Statement |l are incorrect.
(4) Statement | is incorrect but Statement Il is correct.
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[Question ID = 4863][Question Description = Q15_GP_22NOV_51_SHAAN_Shift1]
154

[Option ID = 18915]
3ol

[Option ID = 18916]
3 3

[Option ID = 18917]
4. 4

[Option ID = 18318)]
11) Which of the following is an example of physical barrier to communication?

(1) Cultural disparity (2) Inattention
(3) Verbalism (4) Ill health

fftafaa § % F9 99 i 9ifdE S0 = SERw a7

(1)  wrepfes e (2) FEuH
(3) TERW (4) SFEEE

[Question ID = 4864][Question Description = Q16_GP_22N0V_51_SHAAN_Shift1]
. 1 [Option ID = 18919]
2 [Option ID = 18920]
. 3 [Option ID = 18921]
. 4 [Option ID = 18922]

R L

12) When in a classroom communication, a teacher shows ability of creativity, correlation and analysis, it belongs to which

category of skills?

(1) Thinking skills (2) Expression skills
(3) Media utilization skills (4) Human skills

F GO H TOuE gu e, TE-Tegd o favemw 1 aman w1 oweeE e el W s

el B 7

(1) T =i

(2  Athoufs st

(3)  wifen 3w W
(4) g Hie

[Question ID = 4865][Question Description = Q17_GP_22N0V_S51_SHAAN_Shift1]
1. 1 [Option ID = 18923]
2. 2 [Option ID = 18924]
3. 3 [Option ID = 18925]
4. 4 [Option ID = 18926]

13) Why do we communicate?

(A) For social interaction.

(B) For happiness sake.

(C) For messages to be understood.

(D) For sharing of experience.

(E) For protection of traditions.

Choose the correct answer from the options given below :

(1) (A}, (C), (E)only (2} (B}, (C}, (D) only
(3) (A), (C), D} only  (4) (A), (B), (E) only

IR i STETaTa 54 27

(A) e 3T R B
(B)  wE=a &g
(C) w2 i FomsiaT 3
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(D) 3% EIH A 2

() wemwett % wRew 3g

= fow o frewt § @ w9 W w1 =ae Fifew

(1)  =Fa (A), (O), (B)

(2 =& (B). (©). (D)

(3) &= (A). (C). (D)

4  FaW (A). B), (B)
[Question ID = 4866][Question Description = Q18_GP_22N0V_51_SHAAN_Shift1]
1 [Option ID = 18927]
2 [Option ID = 18928]

. 3 [Option ID = 18929]
4 [Option 1D = 18%30]

e B

14) Match List | with List [l

List | List 1

Types of communication Function served

(A) Mass communication (I) Corridor discussion

(B) Intraperscnal communication (1) Classroom Teaching

(C) Group communication (Ill) For communicates with oneself

(D) Interpersonal communication (IV) For mechanical message transmission

Choose the correct answer from the options given below :

(1) (A)-(V), (B)-(ND), (C)-(11), (D)-(1) (2) (A)-(1), (B)-(N), (C)-(NIN), (D)-(IV)
(3) (A)-(ID), (B)-(ND), (C)-(1¥), (D)-(1) (4) (A)-(lID, (B)-(I1}, (C)-(1), (D)-(IV)

g1 = wy get-11 % fie fifom

g1 g=h-11

HAN % THR Fd THME
(4) 1 TER O  wfcEmr ==t
(B) ofa:3afs 9K AD) e foreqor
(C) UYg 9K (III) =9 & @Y U9K 2g
(D) SiFaafEs Gan IV) Wit s = 2g
Arer fa e fampedi A W e S B WA Hif

(1) A-AV). B)-dI), (C)-(ID), (D)-T)
2  @-D. B-AD. O)-dID). D)-AV)
(3)  (A-ID. B)-dID. (C)-AV), M)-I)

(4) (A)-dID, (B)-AD), (O)-0). (D)-AV)
[Question ID = 4867][Question Description = Q19_GP_22NOVY_S1_SHAAN_Shift1]
1.1

[Option ID = 18931]
1)

[Option ID = 18932]
3. 3

[Option ID = 18933]
4. 4

[Option ID = 18934]

15) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
| Assertion (A) : A man pulls a loaded truck by his hair which becomes news,
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Reasons (R) : Unusual things make news called oddity and generate public interest.
In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is
NOT the correct explanation of (A).
(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

Tt g e g e E ; wH AT (Assertion A) % W # faflaq & A1 guU 3u% FRW (Reason R)

TH

=R (A) | I IS oIfeh HUA STl W, WITh ¢oh bl Wiwel § Ol 9% HTER 9 W 2

= (R): a1t fafeEar % Srer wHEm a9 R § o Aty w1 gem W 8

STIRR FUAI % ST 8, e for T fament § @ wed Sugwe IWm W A il

D) (A) AR (R)IAT T F AR R), (A) F T w2

@ (A) 3R (R) I T T, T (R), (A) Bt 7L = TE 2
@) QT e, & R) & =2

@ (AT TE R, G ®) T2

[Question ID = 4868][Question Description = Q20_GP_22NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 18935]
2. 2 [Option ID = 18936]
3. 3 [Option ID = 18937]
4. 4 [Option ID = 18938)

16) Smita rode her scooty Northwards, then turned left and then again rode to her left 4 km. She found herself exactly 2
km West of her starting point, How far did she ride Northward initially?

(1)2km  (2) 4km

(3)5km  (4) 6 km

G ool TR § SR 2 i oI Teum 56 % I a9 gE iR T A g 4 fRai T8 o
37 9 o7 TuH fig B 2 fearfter aftem 3 9t s faw # sen e Fradter it sreeTdt amn 6 ?

(1) 2 frardix @) 4 Fraimier
(3) 5 fRaeT (4) 6 et

[Question ID = 4869][Question Description = Q21_GP_22N0OV_51_SHAAN_Shift1]
1. 1 [Optien ID = 18939]
2. 2 [Optien ID = 18940]
3. 3 [Option ID = 18941]
4. 4 [Option ID = 18942]

17) A 108 meter long train moving at a speed of 50 km/hr crosses a 112 meters long train coming from the opposite
direction in 6 seconds. The speed of the second train is :

(1) 48 km/hr (2) 54 km/hr
(3) 66 km/hr (4) 82 km/hr

50 Tereridiex ufoue <t 7fa @ == W 108 e o=t ot fAala B o o0 @1 112 fiex ol el =i
6 THS § UR Ft 21 gEd W A i Fmm 27

(1) 48 Frardie/== (2) 54 fredie /g
(3) 66 Franfe/ae (4) 82 fereiet/ge

[Question ID = 4870][Question Description = Q22_GP_22NOV_S1_SHAAN_Shift1]
. 1 [Option ID = 18943

2 [Option ID = 18944
. 3 [Option ID = 18945]

4 [Option ID = 18946]

R
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18) If a 30 meter ladder is placed against a 15 metre wall such that it just reaches the top of the wall, the angle of
elevation of the wall is :

(1) 45° (2) 30°
(3) 60° (4) 50°

IR 30 Wi i Wt 15 Hiex i Fan ¥ 378 THK W S F T8 AR F 6w S g @, @ JaAn w
ST FT B

(1) 45° 2 30

(3) 60° (4) bHO°
[Question ID = 4871][Question Description = Q23_GP_22N0OV_51_SHAAN_Shift1]
. 1 [Optien ID = 18947]

. 2 [Optien ID = 18948]

1
2
3. 3 [Option ID = 18949]
4. 4 [Option ID = 18950]

19) The profit earned by selling a chair for Rs, 752 is 1.2 times the loss incurred when the same chair was sold for Rs, 400,
What is the cost price of the chair?

(1) Rs. 540 (2) Rs. 592
(3) Rs. 560 (4) Rs. 640

sr. fopelt eff =1 752/ - = A s W aifora oy set 5 it 400/ - e § A 18 T § 29 el wf

N 1.2 TR, 9 FH 1 GG ged T 27

(1) 540/~ wOq (2) 592/- %

(3) S60/- ¥ (4) 640/- TUT

[Question ID = 4872][Question Description = Q24_GP_22N0OV_51_SHAAN_Shift1]
1. 1 [Optien ID = 18951]
2. 2 [Optien ID = 18952]
3. 3 [Option ID = 18953]
4. 4 [Option ID = 18954]

20) Three men, four women and six children can complete a work in seven days. A woman does double the work a man
does and a child does half the work a man does. How many women alone can complete this work in 7 days?

(1) 7 (2) 8
(3) 9 (4) 12

I 7o, =R e o T7 o= et %/ i w7 A U R 31 SR e Afeen Yo WY " SR
FT FT 7 I T ) T 7 GO ¥ e i S |, i Ferart afeard gw @ m W 7 fm A g

dRdt B ¢
(1) 7 2) 8
3 9 4) 12

[Question ID = 487 3][Question Description = Q25_GP_22N0OV_51_SHAAN_Shift1]
1. 1 [Optien ID = 18955]
2. 2 [Optien ID = 18956]
3. 3 [Optien ID = 18957]
4. 4 [Option ID = 18958]

21) Given below are two statements :

Statement I : According to Nyaya philosophy an argument proceeds only on those issues

that are completely unknown.

otatement 11 : According to Nyava philosophy an argument does not proceed on those

1ssues that are well established.
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In the hight of the above statements. Choose the most appropriate answer from the options

given below :

(1)
(2)
(3)
4)

Both Statement I and Statement I are correct.
Both Statement I and Statement II are incorrect.
Statement I is correct but Statement IT 1s 1ncorrect.

Statement I 1s incorrect but Statement II is correct,

fR s fRuaw g -

F97 (1) : =T 3 F SR, Th-Ras Faw 3T R § fa § S s o )

F (D) : = T o U, - 37 gt ° T g s gewiva )

SR FYA T T 0, T i e feredi A @ s Sugs S F 99 i

(1)
)
3

(4)

e () 3R (D) 31 =t 3
Ho (I) 331 (IT) 21 e 8

Fe (1) T8 2, ST =9 (D) Tad &

%3 (1) Toid 2, SfF ®39 (1D w8 2

[Question ID = 4874][Question Description = Q26_GP_22N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 18959
2. 2 [Optien ID = 18960]
3. 3 [Optien ID = 18961]
4. 4 [Option ID = 18962]

22) With reference to Nyaya philosophy. which of the following statements is true?

(1)

(2)
(3
(4)

The linga or the middle term 1s not the Karana or operative cause of inference.

The middle term may be a thing of the present but not of the past or the future.

The middle term can function in an inference when past or future.

The middle term can lead to the conclusion apart from the knowledge of vyapti or
the universal relation between it and the major term.

=19 299 % ded A, f=nfea 4 @ SH-m %99 we R 7

(1
(2)
(3
@

o s19rE 3 07 SI9ET W B T HEOT TE B

2 SaA i g B wehen 8, g g siven wfes @)

24 9 AT i g W A § W e |

oIl 1o 2g @R Tiea & sie ot Gy o [ % fafen 3g Feafy 9% ugen wwa B

[Question ID = 4875][Question Description = Q27_GP_22N0V_S51_SHAAN_Shift1]

P bl B —

23)

. 1 [Option ID = 18963]
2 [Option ID = 18964]
3 [Option ID = 18965]
4 [Option ID = 18966]

Given below are two statements :

Statement I : Mimamsakas and Vedantins agree with the Naiyvavikas that the

syllogism congists of five members or proposgitions.

Statement II : Mimamsakas and Vedantins agree with the Naiyavikas that the

syllogism 1s necessary only for pararthanumana or demonstrate inference
and not for svarthanumana or inference for oneself.

In the light of the above statements, Choose the most appropriate answer from the options

prepp
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EIVen Delow

{1) Both Statement I and Statement 11 are correct.
(2) Both Statement I and Statement II are incorrect.
(3 Statement I is correct but Statement II 1s incorrect.
{4) Statement I is incorrect but Statement 11 18 correct.
= gt %o fqu T §
%97 (I) e #N A2l SRR °h 91 39 S 9T @ghd & Th =Iend d uie gee 39
wfa sifh gt 3
w7 (1) : Himiees 3T gl 3R 919 39 9@ O FEFa @ 1 -AEEed hael SUYEAE

Fell Uet=p] S19AH % T stewes B, = e wnuigee wven e & o)

SUITH R h SN °, Ao 50 U Repeul o O ge® ST SO BT 99 it

(1)
@)
(3)
(4

For (I) ¥R (ID) 3T w8t 2
oM (I) 31 (II) 21 e &
e (1) & 2, S w (1) Tora 2
o (I) Teid 3, T FeF (1) a8 2

[Question ID = 4876][Question Description = Q28_GP_22N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 18%67]
2. 2 [Option ID = 18968]
3, 3 [Option ID = 18969]
4. 4 [Option ID = 18970]

24) Given below are two statements :
Statement | ;: A formal fallacy is one that may be identified through mere inspection of the form or structure of an

argument.
Statement Il : Formal fallacies are found only in deductive arguments that have identifiable forms.

In the light of the above statements, Choose the correct answer from the options given below ;

(1) Both Statement | and Statement Il are true, (2) Both Statement | and Statement Il are false,
(3) Statement | is true but Statement |l is false. (4) Statement | is false but Statement Il is true.
f9 2wy ey o 2
7 @) : STieer 2o 92 § o 9 —areE s TR ovET % P W ¥ e e
= T 2
= (II) Fitg=nfieh Zcars® shead FATHATCHS deh-aed § U Fid B Rl A SRR
HT=A1 & |

SUTRH YA W o7 A, 19 v 1 e @ 9 w9t s W = il

(1)
2)
(3)

(4)

e (I) 3fft (1) 1 oewr &
o (1) 3 (ID) @FT 219¢d ©
*uF (1) Ted 2, AP U 379 2

T (1) 39T 2, S w97 (D) 91 2

[Question ID = 4877][Question Description = Q29_GP_22N0OV_51_SHAAN_Shift1]

1
2
3.
4

. 1 [Option ID = 18971]
. 2 [Option ID = 18972]
3 [Option ID = 18973]
. 4 [Option ID = 18974]
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25) ‘““Whoever thrusts a knife into another person should be arrested. Surgeons thrust a knife into another person when
operating. Therefore surgeons should be arrested’’.
Which fallacy is committed in the following argument?
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(1) Hasty generalization (2) Fallacy of accident
(3) Red Herring (4) Appeal to unqualified authority

T =g off Rl =fe W e wee, s6 fawr e S e aea-fafecas seate % we 9 o

=afth W =T F IART FA | I, UoA—Tafehced s B TR R S )

I dh-d9d H -1 SearqiE 8 7

(D
(2
(3)

(4)

HAfFar s
FHWT BT g™

iz 2w

3TE WHEFwRI i 3T

[Question ID = 4878][Question Description = Q30_GP_22NOV_51_SHAAN_Shift1]

oL B

26) The next number P in the sequence of binary numbers 0, 10, 100, 110, P ....., is:

(1) 111

. 1 [Option ID = 18975]
. 2 [Option ID = 18976]
. 3 [Option ID = 18977]
4 [Option 1D = 18%78]

{2) 1000

(3) 1010 (4) 1001
0.10. 100, 110, P ..... ¥ fi=r g=msn % %9 & P = 7 v a2 ?

(1)
(3)

111 (2) 1000

1010 (4) 1001

[Question ID = 4879][Question Description = Q31_GP_22N0V_51_SHAAN_Shift1]
1. 1 [Option ID = 18979]
2. 2 [Option ID = 18980]
3. 3 [Option ID = 18981]
4, 4 [Option ID = 18982]

prepp
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27) ldentify the correct order of following computer memory types ranked from slowest to fastest in terms of access time.
(A) Cache
(B) CDROM
(C) Hard Disk

(D) RAM

(E) Register
Choose the correct answer from the options given below :

(1) (), (B), (A), (D), (E) (2) (E), (A), (D), (C), (B)
(3) (B), (C), (D), (A), (E) (4) (D), (A), (E), (B), (C)

FURX % et A TeRl Y weR o) ¥ wed i % e  safem

(A)
(B)
(C)
(D)

(E)

£

ifs T
e e
W
et

4= i 7o TweT O © TEl 3T 1 999 HiN

(1)
(2)

(). (B). (4). D), (B)
(E). (&), (D). (C). (B)
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(3) (B). (L), (D). (&), (1)

@ D). Q. E.®) )

[Question ID = 4880][Question Description = Q32_GP_22N0V_51_SHAAN_Shift1]
. 1 [Option ID = 18983]
2 [Option ID = 18984]
. 3 [Option ID = 18985]
4 [Option 1D = 18%86]

e it B

28) Given below are two statements :
Statement | ; CPU executes software directly from secondary memory,

Statement Il : A software is termed as Open Source Software if it can be downloaded from the Internet.
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true,

49 & we Bu T B .

FYA (1) : Hirfig fgdres Tmil § Giveesr i Teaaa: A= i 2|
oA (ID) : % HiFeaal T GId W= Feeldl 2 Tl o2 ¥ SeTals #6491 s 25|

I HUT T TR 1, A B T Eewedl § 8 o 3T % 999 Hie

1w (D) ok @) g 9o 3
2w (I) oIk D) gt e 2
(3) = (I)uca 2, wif = 3|ey 2

(4) A () 319 2, wie == (ID) 9 2

[Question ID = 4881][Question Description = Q33_GP_22NOV_S$1_SHAAN_Shift1]
1. 1 [Option ID = 18987]
2. 2 [Option ID = 18988]
3. 3 [Option ID = 18989]
4. 4 [Option ID = 18990]

29) Which of the following statements about wikis are True?

(A) Wiki pages can be locked by moderators to prevent vandlism.

(B) Every change that is made to a wiki page is logged and can be viewed in a history list.
(€) A wiki is designed to allow people to collaborate easily.

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (A} and (C) only (4) (A), (B) and (C)

i S udgd F-—FR d s g 27

(&) Forfi T8t =1 gEEm U % o WS ) A R EE R
B) forft gg & e o0 ues aitea sifea PR s 2 ok se B o @ 2 W wwar R

(©) Tt =1 axfirwew @l =) s § wgam < aEufa g R

Fra fau T Gedl § ® TE ST A T ST

(1)  Fae (A) 3 (B)

(2)  %aw (B) 3 (C)

prepp
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(3)  Faw (A) 3K (C)
4 (&), (B) 3 (C)

[Question ID = 4882][Question Description = Q34_GP_22N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 18991]
2. 2 [Option ID = 18992]
3. 3 [Option ID = 18993]
4. 4 [Option ID = 18994]

30) Match List | with List Il

List | List Il

(Digital Initiatives in Higher Education) (Purpose)

(A) SWAYAM (I) Online store and access of academic awards namely degrees, mark-sheets etc.
(B) SWAYAM PRABHA (Il) Store and access personal e-documents irrespective of physical location.
(C) Digilocker (Ill} MOQOCs for high-quality education anywhere and anytime,

(D) NAD (IV) Free DTH channel for high-quality education.

Choose the correct answer from the options given below :

(1) (A=), (B)-(1V), (C)-(I), (O)-()  (2) (A)-(IV), (B)-(IIN), (C)-(1), (D)-(N)
(3} (A)-(1V), (B)-(ND), (C)-(11), (D)-(1) (4) (A)-(1), (B)-{1), (C)-(1N1}, (D)-(IV)
g1 & @y gfi-11 & fiem Hifs

geit-1 .11

4 I (D e sfufomt, ser-snfEE, ser-
anifE Y AT IUTHAT ST WSRO

(B) AT ID wifes eaftala 9 omgs, ol
ERs e i o R e

(C) fEimmE (IID) =& *fit-eft ot s=wata fen & fe
TasTiEE (qFa)

D) wusE AV) s=reita e = foae R e <

et fa e fomet | @ @E) I W = il

(1) @-dID, B)-aV). (O)-ah. O)-D
2)  (A)-OV). B)-d1D. (O)-(D, D)-(1I)
(3)  (A)-0V), B)-d), (C)-(1D), (D)~
@ @-AD. (B)-1D). (O)-I1D), (D)-AV)

[Question ID = 4883][Question Description = Q35_GP_22N0OV_S51_SHAAN_Shift1]
1. 1 [Option ID = 18995]
2. 2 [Option ID = 18996]
3. 3 [Option ID = 18997]
4. 4 [Option ID = 18998]

31) The waste component of waste categorized as ‘Trash’ consists of
(A) Paper, Cardboard cartons

(B} Animal wastes

(C) Industrial process wastes

(D) Vegetable wastes

(E) Wood

Choose the correct answer from the options given below :

(1) (A) and (E) only (2) (A), (C) and (E) only
(3) (A), (C), (D} and (E) only (4) (A), (B), (D} and (E) only
“FHeRI” * w9 4 Joiiha s1afig w1 e 7 R

(A) T, FEATS HA
(B) Uy ¥uiE
(C) rrenifiver wfsr afoe
(D) W STE

prepp
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Hi= fou o foredl § 9 Gt 39 R ==A i

D) Ed Q) 3R (E)

@) EE A), (©) 3R (E)

(3)  =Ed (A), (0). (D) 3R (E)
@ & (A), (B), (D) i (E)

[Question ID = 4884][Question Description = Q36_GP_22N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 18999]
2. 2 [Option ID = 19000]
3. 3 [Option ID = 19001]
4. 4 [Option ID = 19002]

32) Under Sustainable Development Goal 12- Sustainable Consumption and Production, one of
the targets is to reduce per capita food waste at the retail and consumer levels by :

n ¥ 2 4
3 Y @ Y

Under Sustainable Development Goal 12- Sustainable Consumption and Production, one of
the targets is to reduce per capita food waste at the retail and consumer levels by :

n ¥ 2 4
3 Y @ Y

[Question ID = 4885][Question Description = Q37_GP_22N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 19003]
2. 2 [Option ID = 19004]
3. 3 [Option ID = 19005]
4. 4 [Option ID = 19006]

33) Small hydro power potential in India is estimated approximately as

(1) ~ 60 MW (2) ~ 100 MW
(3) - 10 GW (4) - 20 GW

9A © oY e Wik WY hat g BT AN 27

(1)  ~605mER (2) ~ 100 BTER
(8)  ~ 10 fimEne (4) ~ 20 fmare

[Question ID = 4886][Question Description = Q38_GP_22N0OV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19007]
2. 2 [Opticn ID = 19008]
3. 3 [Opticn ID = 19009]
4, 4 [Option ID = 19010]

34) The global environmental issue of Ozone depletion is due to emission of :
(A) Sulphur dioxide

(B) Chlorinated hydrocarbons

(C) Methane

(D) Carbone dixoide

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B) only
(3) (B} and (D} only (4) (A), (B) and (C) only

3T & =t Afvees SeaelE wrear e Sl & sRm e ?

(A) TP SRS

(B) TR TEGIHEA
(C)  #ig=

(D)  EA ST FEES

e fou 7o fomedi § O TEW SUTE W WA AN
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(1)  Had (A) 3 (B)

2  ad (B)

(3)  ad (B) 3 (D)

@)  ad Q) (B) R (C)
[Question ID = 4887][Question Description = Q39_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 15011]
2. 2 [Option ID = 19012

]
3. 3 [Option ID = 19013]
4. 4 [Option ID = 19014]

35) Match List | with List Il

List | List I
(Digital Initiatives in Higher Education) (Purpose)
(A) SWAYAM (1) Online store and access of academic awards namely degrees, mark-sheets etc.

(B) SWAYAM PRABHA (I} Store and access personal e-documents irrespective of physical location.
(C) Digilocker (1) MOOCs for high-quality education anywhere and anytime,

(D) NAD (IV) Free DTH channel for high-quality education.
Choose the correct answer from the options given below :

(1) (A)-(11}, (B)-(1¥), (C)-(11), (D)-(1) (2) (A)-(IV), (B)-(1IN), (C)-(1}, (D)-(I)
(3) (A)}-(V), (B)-(I1), (C)-(I), (D)-(D) (4) (A)-(I1), (B)-(), (C)-(1}, (D)-(IV)

Freifea o = Frm TTpfos =g =i TUeTRdE % ¥ F Yvirsa R S R 7

1) T ) feremeE
(3) q%H (4) w=

[Question ID = 4888][Question Description = Q40_GP_22NOV_S$1_SHAAN_Shift1]
1. 1 [Option ID = 19015]
2. 2 [Option ID = 19016]
3. 3 [Option ID = 19017]
4. 4 [Option ID = 19018]

36) The NEP-2020 proposes to prepare which of the curriculum frameworks?
(A) National Curriculum Framework for School Education

(B) National Curriculum Framework for Adult Education

(€) National Curriculum Framework for Teacher Education

(D) National Curriculum Framework for Technical Education

(E) National Curriculum Framework for Vocational Education

Choose the correct answer from the options given below :

(1) (A}, (C), (E)only (2} (B), (C}, (D) only
(3) (A), (B), (Qyonly  (4) (C), (D), (E) only

73 forer A1f9-2020 o, Feifera o & forushr qresspd Srem G9R R = 9=E 2 ¢
(A) e foar 57 TP aeRE @

(B  vig fien vg Wi dewT g

(C) e Toiem <7 vdim Urewshy @

(D) -t foren 29 UPE uTSsERE gTn

(B) =i foen g9 Udim wesishu g

= fow o Gemt § @ O S W A ST

1)  F= A, (©). (B

2 %A (B). (©). (D)

(3) = (A). B). ()

4 == (C), D), (B)
[Question ID = 4889][Question Description = Q41_GP_22N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 19019]

2. 2 [Option ID = 19020]
| 3. 3 [Option ID = 19021]

prepp
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| 4. 4 [Option ID = 19022]

37) Which of the following values is related to self-transcendance?

(1) Security value (2) Value of Universalism

(3) Value of freedom (4) Value of conformity
feifFa § § FE-T go8 E-Sc d Tag 27
1) T T (2) TEgREaTG A
(8)  wEawar B Yo (4) HHITEET = oA

[Question ID = 4890][Question Description = Q42_GP_22N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 19023]
2. 2 [Option ID = 19024]
3. 3 [Option ID = 19025]
4. 4 [Option ID = 19026]

38) NEP-2020 proposes to establish which of the following new bodies?
(A) SSSA

(B) PARAKH

(C) NTI

(D) NITI

(E) NTA

Choose the correct answer from the options given below :

(1) (A}, (C), (D) only (2) (B}, (C), (E) only
(3) (A), (B), (C) only (4) (B), (C), (D) only

a5 firen Aif3-2020 ¥ Freaifra 8 o B Femat i e %1 oeaa 27
(A) TWTWWET

(B) R

(C) I omg JF oM

(D) ©F i & o
(E) wWdig
A= fau v famreul A @ wEl ST = =wEe il

1) F&E (A, (€), D)
@ = (B), (). (B)
(3  F&A (A), B). (O
4)  =a (B). (C). (D)

[Question ID = 4891][Question Description = Q43_GP_22NOV_51_SHAAN_Shift1]
. 1 [Option ID = 19027]
. 2 [Option ID = 19028]
. 3 [Option ID = 19029]
4 [Option 1D = 15030]

oWk b2 o

39) Which of the following is an apex advisory and non statutory body?

(1) NITI Aayog (2) NCTE

(3) AICTE (4) MC
Frenifea | @ i v geewl Wik fe-wmiitee Feem 27
(1)  =ifg s (2) wHi g
(3 uamEdHds 4 i amg

[Question ID = 4892][Question Description = Q44_GP_22N0V_51_SHAAN_Shift1]
1. 1 [Option ID = 19031]
2. 2 [Option ID = 19032]
3. 3 [Option ID = 19033]
4, 4 [Option ID = 19034]

40) Who among the following was the first Chairman of UGC?
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(1) Sh Humayun Kabir (2) Sh C.D. Deshmukh
(3) Sh M, Moolgaokar (4) Moolchand Sharma

ferzaformem 19gm ST % usm sTeme HiT 9 ?
() o g el @ fHIE e
(3 i . e (4)  Hy=E T

[Question ID = 48923][Question Description = Q45_GP_22N0V_51_SHAAN_Shift1]
1 [Option ID = 19035]

2. 2 [Option ID = 19036]

3. 3 [Option ID = 19037]

4, 4 [Option ID = 19038]

Topic:- GP_Seth_C

1) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education {(GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEls will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc, as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e,g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEl, to be counted for the award of a degree.

New National Education Policy is grounded in the assumptions that :

(A) There is increasing interconnectedness among nations at the global level.

(B) Technical knowledge should replace traditional models of learning.

(C) HEIs must focus on promotion of desirable ethical values.

(D) There is need for changes in legislative framework to facilitiate free exchange of academic ideas and achievements,
Choose the correct answer from the options given below ;

(1) (A), (B) and (D) only (2) (A) and (C) only
(3) (A), (C) and (D) only (4) {C) and (D) only
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(C) = e el 1 aifsd AM-wedia Yedi % Tagd W SIH Sigd B =ey|

(D) ifew faEmi il Suafsi % 9% JRA-YeE B g s % e e ge 6 aied

I 2

H= fou 7o fwedt B & 9 oo W = Hifae
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[Question ID = 4894][Question Description = Q46_GP_22ZNOV_51_SHAAN_Shift1]
1. 1

[Option ID = 19039]
2. 2

[Option ID = 19040]
3.3

[Option ID = 15041]
4, 4

[Option ID = 19042]

2) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEls will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
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' colloboration and faculty/student exchanges with high gquality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Given below are two statements :

Statement | ; National Education Policy is framed with an objective of saving national HEls from competition at the global
level.

Statement Il : National Education Policy is framed with an objective of encouraging exchange of knowledge and expertise
both at local and global level.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct. (2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement |l is incorrect (4) Statement | is incorrect but Statement Il is correct.
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[Question ID = 4895][Question Description = Q47_GP_22NOV_51_SHAAN_Shift1]
1. 1

[Option ID = 19043]
2. 2

[Option 1D = 15044]
3 3

[Option ID = 19045]
4. 4

[Option ID = 15046]

3) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies, As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEIs/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Which of the following statements most appropriately represent one of the chief concerns regarding higher education?
(1) It argues for only local production and of knowledge and its implementation.
(2) It emphasizes only upon implementation of foreign higher education models in India.

(3) It argues for mutual exchange of knowledge and learning among national and international institutions of higher
education.

(4) It argues for practical learning alene for employability putting social issues aside.
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[Question ID = 4896][Question Description = Q48_GP_22N0OV_51_SHAAN_Shift1]

1.

1
[Option ID = 19047]

2. 2

[Option ID = 15048)]

S

[Option ID = 19049]

4, 4

[Option 1D = 15050]

4) Read the passage carefully and answer the question that follow:
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As the world is becoming increasingly interconnected, Global Citizenship Education (GCEL), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies, As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEIs/research institutions, so that

students may actively engage with the practical side of their learning and, as a by-product, further improve their

employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set

up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training

colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
| campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
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. facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Holistic education at HEIs is aimed at ;

(A) Research internship with researchers and faculty at different HEIs.

(B) Recyling of traditional knowledge systems.

(C) Providing opportunities for internships at local level.

(D) Keeping social sciences and natural sciences within distinct spheres of teaching and learning.
Choose the correct answer from the options given below ;

(1) (B} and (D} only (2) (A) and (C) only
(3) (A) and (D) only (4) (C) and (D) only
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(1) e (B) 31k (D)
(2)  FEE (A) R ()
(3) e (A) 3tk (D)
4)  F&d (C) ¥R (D)

[Question ID = 4897][Question Description = Q49_GP_22N0V_S51_SHAAN_Shift1]
1.

[Option ID = 19051]
2. 2

[Option ID = 19052]
3.3

[Option ID = 15053]
4. 4

[Option ID = 19054]

5) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education {(GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEls will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e,g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Given below are two statements :

Statement | : National Education Policy envisages learning as a process of inculcating values of tolerance, inclusion and
sustainability.

Statement Il : National Education Policy lays stress on employability of learners in businesses and industries.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct, (2) Both Statement | and Statement Il are incorrect,
(3) Statement | is correct but Statement Il is incorrect (4) Statement | is incorrect but Statement Il is correct.
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[Question ID = 4898][Question Description = Q50_GP_22N0V_S51_SHAAN_Shift1]
11

[Option ID = 19055]
P

[Option ID = 19056]
3.3

[Option ID = 19057]
4, 4

[Option ID = 19058]

Topic:- Yoga_A

1) In Muktikopnishad, the number of Upnishadas are
(1) 11 (2) 10
(3) 108 (4y 223

girRToe § 391l 1 HEA sl T 3

1) 11 (2) 10

(3 108 (4 223
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[Question ID = 5532][Question Description = Q01_Yoga_SHAAN_22NOV_SI_Shift1]
1.

i
[Option ID = 21576]

2. 2

[Option ID = 21577]

L

[Option ID = 21578]

4, 4

[Option ID = 21579]

2) The famous theory of Samkhya Darshana is

(1) Satkaryavad
(3) Vivartvaad

TsT 27 # guiig fagra 2
(1) HeeheE
(3) foadar

[Question ID = 5533][Question Description = Q02_Yoga_SHAAN_22NOV_5I_Shift1]

1.1

[Option ID = 21580]
2. 2

[Option ID = 21581]
3. 3

[Option ID = 21582]
4. 4

[Option ID = 21583)

3) Term Shruti is used for
(1) Yaagyavalkya smriti
(3) Veda

s e PeEes fore = R T 27

()  wEe i

-

(3) =s

[Question ID = 5534][Question Description = Q03_Yoga_SHAAN_22NOV_SI_Shift1]

14

[Option ID = 21584]
Ll

[Option ID = 21585]
3.3

[Option ID = 21586]
4. 4

[Option ID = 21587]

(2)
(4)

(2)

4

Asatkaryavad

Sadsatkhyativaad

T

GRS

b ERe[RE HT  H

(2) Bhagvad Gita

(4)

)

4)

Purana

wEg i

'

4) The propounder of Nyaya Darshana, Gautama is also known as

(1) Pragya Chakshu
(3) Prabhu Paad

A 39 % T Tae gE T 2

(1) vy

(8) WU

(2)
(4)

2
4)

Aksha Paad

Vaatsyaayan

HEATIg

EIGEIEE
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[Question ID = 5535][Question Description = Q04_Yoga_SHAAN_22NOV_5I_Shift1]
154

[Option ID = 21588]
2. 2

[Option ID = 21589]
3 3

[Option ID = 21590]
4. 4

[Option ID = 21591]
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5) In Taittariya upnishad, which of the following has been described by ‘Yato vacho Nivarttante. Aprapya Manasa Sah'?

(1) The world {(Jagat) (2) Education
(3) Brahma (4) Cause and effect

¥ sufog § ‘et am e | ST wen @81 % g, foeweR 3o e T 2

(1) S\ (2) Toem =

(3) W (4) TR TF HE H

[Question ID = 5536][Question Description = Q05_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21592]
%2

[Option ID = 21593]
3.3

[Option ID = 21594]
4, 4

[Option ID = 21595]

¥

6) In Bhagawadgita following example of Indriya-Nigraha has been given in context of ‘Sthitpragya

(1) Boat (Naav) (2)50il (Mitti)
(3) Turtle (Koorma) (4)Elephant (Hasti)

W § ey % ged ¥ sea-Fue = sem B o
1 = (2) fEd
@ ™ @ =

[Question ID = 5537][Question Description = Q06_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21596]
3.2

[Option ID = 21597]
3. 3

[Option ID = 21598]
4, 4

[Option ID = 21599]

7 . : : :
) Choose the option showing correct order according to Bhagavadgita

(1) Sammoha = Krodha = Smritivibhrama = Buddhinasha
(2) Smritivibhrama = Sammoha = Krodha = Buddhinasha
(3) Buddhinasha = Smritivibhrama = Krodha = Sammoha
Cy Krodha = Sammoha = Smritivibhrama = Buddhinasha

WIS % STEN TEl 39 7 9w H g
(1) w9E = HY => WhkYE = glEw
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2) wialaym = TR = F4 = g
(3) giET™ = WEEw = FY = T
4) Y = wmEE = welhwm = gz

[Question ID = 5538][Question Description = Q07 _Yoga_SHAAN_22NOV_5I_Shift1]
1. 1

[Option ID = 21600]
2. 2

[Option ID = 21601]
3, 3

[Option ID = 21602]
4. 4

[Option ID = 21603]

8) Choose correct option to fill the blank in the following Pada according to Yogavasishtha : ‘Manasah Spandanam Pranah,
Pranasya Spandanam -’

(1) Buddhih (2ZHridayam
(3) Indrivah (4yManah

et % oEr Fre u2 % s wm 5g wh e g
T e T TR e ——————— |
O e (2) T

'

3 = @ T

[Question ID = 5539][Question Description = Q08_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1 [Optien ID = 21604]
2. 2 [Optien ID = 21605]
3. 3 [Optien ID = 21606]
4. 4 [Option ID = 21607]

9) According to the Dhyanbindu Upanishad the Guna associated with ‘Ukar’ is

(1) Rajoguna (2) Tamoguna
(3) Sattvik Guna (4) Mishrit Guna

[Question ID = 5540][Question Description = Q09_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1 [Optien ID = 21608]

2. 2 [Optien ID = 21609]

3. 3 [Option ID = 21610]
4. 4 [Option ID = 21611]

10) In Nadabindoopnishad 12t Matra has been referred as

(1) Dhriti (2) Ghoshini
(3) Vayuvegini (4) Brhami

ATafergutug W STEEl A H w TG
1 g (2 =@fiof
3 =i @

[Question ID = 5541][Question Description = Q10_Yoga_SHAAN_22NOV_5I1_Shift1]
1. 1

[Option ID = 21612]
7.2
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[Option ID = 21613]
LN

[Option ID = 21614]
4, 4

[Option ID = 21615]

prepp
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11) “*Mayamtu Prakritim Vidyanmayinam Tam Maheshwaram’’ in which Upanishad the form of God has been explained by

the above Statement?
(1) Yograjopnishad (2) Yogtattvopnishad
(3) Swetaswataropnishad (4) Trishikhibrahmnopnishad

e g W farementeE § aevaw] SR F9A % g e 3ufivg 1 fvan w vy afvla 27

(1) IAFOEIIEEE, (2) FFTEEEEg
(3)  TeATERREg (@) Tifirfg s

[Question ID = 5542][Question Description = Q11_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21616]
2. 2

[Option ID = 21617]
3. 3

[Option ID = 21618]
4, 4

[Option ID = 21619]

12) ‘Chittasya Nischalibhavo Dharana’ in which Upanishad ‘Dharana’ has been interpreted as above?

(1) Swetaswatar Upanishad {2) Yogkundalyopnishad
(3) Yogchudamanyupanishad (4) Trishikhibrahmnopanishad

‘Feraer Freasfiame gron’, “gron’ =it swiw savew R e 1 i 27

(1)  vaawam st (2) FEESEANTG
(3) A ESHIITAES (@) fifsfa st

[Question ID = 5543][Question Description = Q12_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21620]
2. 2

[Option ID = 21621]
S

[Option ID = 21622]
4. 4

[Option ID = 21623]

13) According to Yog sutra term ‘Prakash’ is related with
(1) Aatma (2) Satoguna
(3) Rajoguna (4) Surya

T o IGUR WY WeE T §

(1) e (2) wam @
(3) W @ w4

[Question ID = 5544][Question Description = Q13_Yoga_SHAAN_22NOV_SI_Shift1]
Te 5

[Option ID = 21624]
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| 2. 2

[Option ID = 21625]
3.3

[Option ID = 21626]
4, 4

[Option ID = 21627]

14) According to Yogasutra ‘Sabdarth Gyan Vikalpaih’ is related to which samapatti?
(1) Svitarka (2) Nivitarka
(3) Nirvichar (4) Asmita

AT % FTEN weardT e’ e gemty @ greifim 20

(1) afFas (2) fifaas
(3) ffdexw (4) orfeaan

[Question ID = 5545][Question Description = Q14_Yoga_SHAAN_22NOV_S5I_Shift1]
1.

[Option ID = 21628]
3.2

[Option ID = 21629]
8

[Option ID = 21630]
4, 4

[Option ID = 21631]

15) According to Patanjal yoga sutra Purushkhyati is related to
(1) Asampragyat samadhi {2) Nirbij samadhi
(3) Par vairagya (4) Apar Vairagya

UTdSTel AFT G % AR qETeAita defid &:
(1) e warta @) ffis gfa =
(3) WAwmTd (4) T FI F

[Question ID = 5546][Question Description = Q15_Yoga_SHAAN_22NOV_SI_Shift1]
|

[Option ID = 21632)]
2.2

[Option ID = 21633]
3.3

[Option ID = 21634]
4. 4

[Option ID = 21635]

16) Which are ‘Klishta’ among the following?

(1) Chittabhumi (2) Chittavritti
(3) Klesha (4) Karma
eH Y e ad 2 .
(1 FEyE (%) T
(3) (4) =8

[Question ID = 5547][Question Description = Q16_Yoga_SHAAN_22NOV_5I_Shift1]
1. 1
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[Option ID = 21636]
2. 2

[Option ID = 21637]
3.3

[Option ID = 21638]
4. 4

[Option ID = 21639]

17) In which stage of Nadanusandhan Abhyas various types of Gambhir Nad are heard?
(1) In Pratham Abhyas (2) In Madhya Abhyas
(3) At the completion of Abhyas (4) At the relaxation stage of Abhyas

FEHEHT b AW % g =T A fafay yeRr % 1l e g w27

(1) M sreE o (2) THT HASTE I

(3) e i g w @) sremm # it s §

[Question ID = 5548][Question Description = Q17_Yoga_SHAAN_22NOV_SI_Shift1]
1.

[Option ID = 21640]
Ll

[Option ID = 21641]
3.3

[Option ID = 21642]
4. 4

[Option ID = 21643]

18) According to Hatha Pradipika, after Siddhi of which asana all the three bandhas are automatically performed?
(1) Siddhasana (2) Paschimottanasana

(3) Kukkutasana (4) Uttankurmasana

7S eI = SER g ame i falg w dar svg s & o 9w 27
(1)  TozmA (2) ofraaEEA
8)  FIHIEA (4) SAFEAEA

[Question ID = 5549][Question Description = Q18_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21644]
Z. 2

[Option ID = 21645]
3.3

[Option ID = 21646]
4, 4

[Option ID = 21647]

19) ‘‘Abhayasina Cha Bhoktavyam Stokam Stokmanekdhai Poorvoktkale Kuryattu Kumbhkan Prativasaram’’.
This Shloka belongs to which patala of Shiva Sanhita?

(1) Pratham Patala {2) Tritiva Patala

(3) Chaturtha Patala (4) Pancham Patala

*STenfEAT o gigae Witk T |

aThHTe AT TERH, e (]
Tz veiish T Gigar % 56a Tea #1 21
(1) 99 ve (2) = ved

(3) =@ wew @) uem T
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[Question ID = 5550][Question Description = Q19_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21648]
2. 2

[Option ID = 21649]
i3

[Option ID = 21650]
4, 4

[Option ID = 21651]

20) The number of Yamas in Vasishtha Samhita are

(1) Five (2) Seven
(3) Ten (4) Twelve
Jfytg Afgar @ 7Ai i T 7
(1 & @ =@
3 == 4) =

[Question ID = 5551][Question Description = Q20_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21652]
2. 2

[Option ID = 21653]
B

[Option ID = 21654]
4, 4

[Option ID = 21655]

21) How many types of amino acids are found in proteins?
(1) 22 (Z) 25
(3) 27 (4) 29

9§ FFe TR % ST ufts ue S B

1 22 2 25
@ 27 @ 29

[Question ID = 5552][Question Description = Q21_Yoga_SHAAN_22NOV_5I_Shift1]
1. 1

[Option ID = 21656]
2. 2

[Option ID = 21657]
3.3

[Option ID = 21658]
4. 4

[Option ID = 21659]

22) The cell was first discovered by

(1 Watson and Crick in 1685

(2) Robert Hooke in 1665

(3) Anton Van Leeuwenhock in 1674

(4) Theodor Schwann and Matthias Schleiden in 1838

IR =1 @i weem e = off 7

(1)  =need i fem 4 1685 1
(20 T THA 1665 H
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(8) UM aM vgaqETE A 1674 |
(4) fomisn e I B deeT 4 1838

[Question ID = 5553][Question Description = Q22_Yoga_SHAAN_22NQV_SI_Shift1]
1. 1

[Option ID = 21660]
2. 2

[Option ID = 21661]
3. 3

[Option ID = 21662]
4, 4

[Option ID = 21663]

23) The volume of air breathed in and out of lungs in a healthy individual is known as
(1) Residual volume (2) Tidal volume

(3) Vital capacity (4) Lung capacity
R T SRR % RSl o e Tl 3 I Faga eHaw gar i aeEn Feand )

(1) @ =Jw (2) oSS JeH
(3) STl e (4) TEST AHa

[Question ID = 5554][Question Description = Q23_Yoga_SHAAN_22NOV_5I_Shift1]
1. 1

[Option ID = 21664]
2. 2

[Option ID = 21665]
S

[Option ID = 21666]
4. 4

[Option ID = 21667)]

24) ‘‘Stress refers to nonspecific response of the body to any demand made upon it’’ stated by

(1) Baron (2) Hens Selye

(3) Morgan and King (4) Holmes and Masuda
Tz Fafifas § @ feae »9m 27 ‘a9 ¥ o ol g stavTmaEr e e sfafie safem 2
ORI @ =R
(3) =R wE 4) 3o UE AgE

[Question ID = 5555][Question Description = Q24_Yoga_SHAAN_22NOV_5I1_Shift1]
1. 1

[Option ID = 21668]
7.2

[Option ID = 21669]
3.3

[Option ID = 21670]
4, 4

[Option ID = 21671]

23) According to Ayurveda, how much part of stomach should be left empty for space during

meal?
1 1
1 — part 2 — part
(1) 3 P (2) 5 P2
1 2
3 — part 4 — part
(3) 2 P 4) 3 P

ARER AR, WIS % S0 SAmE 5 Frad w Yy fs sigr s =nfzg ?
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3

(2)

3

(L

3 | € HITE

W= o
wlibo o]

[Question ID = 5556][Question Description = Q25_Yoga_SHAAN_22NOV_5I_Shift1]
R

[Option ID = 21672]
2. 2

[Option ID = 21673]
S i

[Option ID = 21674]
4. 4

[Option ID = 21675]

26) How many rasas are identified according to Ayurveda?

(1) Six (2) Seven
(3) Eight (4) Nine
HCIER *h IR, W Ra TR o B 27
1 3= (2) wa
(3 o= @

[Question ID = 5557][Question Description = Q26_Yoga_SHAAN_22NOV_5I_Shift1]
1. 1

[Option ID = 21676]
2.2

[Option ID = 21677]
S

[Option ID = 21678]
4. 4

[Option ID = 21679]

27) Which Vayu helps in word utterance/speech?
(1) Udana Vayu (2) Samana Vayu
(3) Apana Vayu (4) Prana Vayu

52, SN/ | B~ 9 FEEal ] 2 7

SV SRR (2) awr ATy

(8)  oUH g 4) worag

[Question ID = 5558][Question Description = Q27_Yoga_SHAAN_22NOV_5I_Shift1]
1. 1

[Option ID = 21680]
2.2

[Option ID = 21681]
3 3

[Option ID = 21682]
4. 4

[Option ID = 21683]

28) Untreated or under treated streptococcal infection can lead towards

(1) Sinusitis (2) Rheumatic Valvular lesions
(3) Glomerulonephritis (4) Migraine
T THHY 1 ST Tel B W A IHH U 3AW el B W Fefaiad § ¥ wE-H s

= At 27



www.prepp.in .repp

Your Personal Exams Guide

(1) weEAEERy ) fopnfes aeeger dia=
(8) THEHEEEEERE (4) W

[Question ID = 5559][Question Description = Q28_Yoga_SHAAN_22NOV_5I_Shift1]
11

[Option ID = 21684]
2. 2

[Option ID = 21685]
e

[Option ID = 21686]
4, 4

[Option ID = 21687]

29) Which is the correct scale for assessment of Body Mass Index (BMI)?
(1 Weight in kg/height in meter square

(2) Weight in grams/height in meter square

(3) Height in meter square/weight in kg

(4) Height in meter squarefweight in grams
TSt AT 59E (St W o1E)  orReH g feferiad § © ®iE- T (The) oS a7

(1) =oF f.m. 4/ o1 ot 5§
(2) == . H e L o
(3)  wwans = W H/ w9 FRoan |
(4  <waE o W, 7/ g9 e o

[Question ID = 5560][Question Description = Q29_Yoga_SHAAN_22NOV_SI_Shift1]
1.1

[Option ID = 21688)
2. 2

[Option ID = 21689]
3.3

[Option ID = 21690]
4. 4

[Option ID = 21691]

30) Hot flashes, disturbed sleep and emotional changes are the characteristic features of
(1) Pre-menstrual syndrome (2} Metabolic syndrome

(3) Nephrotic syndrome (4) Menopausal syndrome

T Hegd B, WiaE g 3T WIS aged T B

(1) -t fgm & (2) et fogm
(3)  wiew fagm @) = fgm

[Question ID = 5561][Question Description = Q30_Yoga_SHAAN_22NOV_SI_Shift1]
i

[Option ID = 21692]
.2

[Option ID = 21693]
e

[Option ID = 21694]
4, 4

[Option ID = 21695]

31) Acromegaly is a disorder due to excessive secretion of

(1) Adrenaline (2) Growth hormone
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(3) Calcium (4) VYasopressin

UHITETe U frEid 8, S PR sifaard % R il & ¢

(1)  oErars @ ma (Fhg) T
(3) Fewrm 4) FEnEE

[Question ID = 5562][Question Description = Q31_Yoga_SHAAN_22NOV_SI_Shift1]
i

[Option ID = 21696]
Z. 2

[Option ID = 21697]
3.3

[Option ID = 21698]
4, 4

[Option ID = 21699]

32) Which is the most suitable teaching method for teaching voga practices in a small group of learners?

(1 Demonstration method

(2) Direct practice method

(3) Group discussion method

(4) Response-to-instruction method

sAftrmraratal % B aqe A Armem B Tt I e G wn-d@ 20

(1)  veuA fafy
(2 Iy e &
(3) ugs == faiy
@ e b fafy
[Question ID = 5563][Question Description = Q32_Yoga_ SHAAN_22NOV_SI_Shift1]

1. 1

[Option ID = 21700]
2. 2

[Option ID = 21701]
3. 3

[Option ID = 21702]
4, 4

[Option 1D = 21703]
33) According to ‘Teaching methods for Yogic Practices’ - the learning pattern “‘Simple to complex’” and ‘‘from known to
unknown'’ belongs to
(N Psychological Principles (2) Educational Principles

(3) Sociological Principles (4) Yogic Principles

“Armreagt #i s faften’ % oER, e ¥ w3 W ¥ o ok §EY @
(1) A faga (2) e faga ®
(8)  THTmHI faga (@) FIMfagm ¥

[Question ID = 5564][Question Description = Q33_Yoga_SHAAN_22NOV_5I_Shift1]
R

[Option ID = 21704]
2. 2

[Option ID = 21705]
3. 3

[Option ID = 21706]
4, 4

[Option 1D = 21707]
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34) In which text Sagarbha and Nigarbha Kumbhakas are mentioned?
(1) Shiva Samhita {(2) Hathapradeepika
(3) Gheranda Samhita (4) Vashistha Samhita

Topm geaeh 3 @t afi Fd Sl B sga e 27

(1) & glgar (2) 73 WAl
(3) =S @l (4) St wk

[Question ID = 5565][Question Description = Q34_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21708]
Lok

[Option ID = 21709]
3.3

[Option ID = 21710]
4, 4

[Option ID = 21711]

35) Pranayama is advised to be practiced

(1) Before shat karma (2) Before perfection in asana

(3) After perfection in asana (4) After perfection in pratyahara

TITEE % TSI 1 TON9 f9aT I &

Q) (2) 3T A g U g
(3) WA ¥ 3T *h T (4) TENER ¥ ghaT % TrEE,

[Question ID = 5566][Question Description = Q35_Yoga_SHAAN_22NOV_5I_Shift1]
1. 1

[Option ID = 21712]
2.0

[Option ID = 21713]
3 3

[Option ID = 21714]
4. 4

[Option ID = 21715]

36) Which yoga practice is not recommended for patients of Depression?

(1) Shatkarma (2) Asanas
(3) Pranayama (4) Meditation

FFRaT T % AU hH-91 e = gy 18] 2 7

(1)  we=d (2) HwA
(3) v @ =

[Question ID = 5567][Question Description = Q36_Yoga_SHAAN_22NOV_5I_Shift1]
1. 1

[Option ID = 21716]
2. 2

[Option ID = 21717]
3 3

[Option ID = 21718]
4. 4

[Option ID = 21719]

37) In Gheranda Samhita Ashta Kumbhaka is mentioned at

(N Chapter 5 shloke No. 41 (2} Chapter 5 shloke No. 44
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(3) Chapter 5 shloke No. 45 (4) Chapter 5 shloke No. 46
=iz afzan § 31w 9% sfghaa 2

P> (1) cwam s vor® |. 41 & (2) SIS Tl E. 44
(3)  ATA™ 5 TR @, 45 | () o1 5 TEE E. 46 H

[Question ID = 5568][Question Description = Q37_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21720]
7.2

[Option ID = 21721]
3. 3

[Option ID = 21722]
4, 4

[Option ID = 21723]

38) The ability of a nerve fibre to transmit the impulse from the area of stimulation to other areas is ————- .
(1) Excitability (2) Contractibility
(3) Elasticity (4) Conductivity

E-ag -l A G S S W 3= &A1 i AR G el 37

(1) 3o & (2) GPHuA ana
(3 T (4) waEa Fhan

[Question ID = 5569][Question Description = Q38_Yoga_SHAAN_22NOV_SI_Shift1]
11

[Option ID = 21724]
P

[Option ID = 21725]
3.3

[Option ID = 21726]
4, 4

[Option ID = 21727]

39) According to yog Kundalyupanishad, sahit Kumbhakas are
(1) Plawani, Moorchha, Sitkari

(2) Suryabhedan, Ujjayee, Shitali and Bhastrika

(3) Bahya, Abhyantar, Stambh

(4) Mitahar and Asan
ATFTSTIITG, F STFAR Fed T 7
(1) e, g, e
(2)  TEYEA, Ivorll, Hiaet ud ik
(8) =M, I, T

(4) TRmER A

[Question ID = 5570][Question Description = Q39_Yoga_SHAAN_22NOV_SI_Shift1]
j it

[Option ID = 21728)]
2. 2

[Option ID = 21729]
3.3

[Option 1D = 21730]
4, 4
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[Option ID = 21731]

40) Difficulty in swallowing food is termed as

(1) Achalasia (2)
(3) Dysplasia (4)
Wiod il Fer 0 g9 91l rgfaar et 2 -
(1)  whafem 2
(3) TEuwemiEm @

[Question ID = 5571][Question Description = Q40_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

[Option ID = 21732]

Lk

[Option ID = 21733]

3. 3

[Option ID = 21734]

4. 4

[Option ID = 21735]

41) Maharshi Dayanand took the deeksha of samnyasa where and by whom?

(A)
(B)
(€)
(D)
(E)

Choose the correct answer from the options given below ;

(1)
(2)
(3)
(4)

Mathura

Kankhal

Swami Virjananda

Swami Poormanand Saraswati

Swami Shivananda

(A}, (D) only
(B), (D) only
(E), (C) only
(B), (C) only

TR gARe 4 G Rl diaT Far oiie frem i ¢

(A)

(B)

©)

)

(E)

R
=]

et fersTg
Tt e

9= fau o faweat 0 O 98t IO A 999 Hifaw

L
@
(3

(4

[Question ID = 5572][Question Description = Q41_Yoga_SHAAN_22NOV_5I_Shift1]

1. 1

Fas (A). (D)
Fa4 (B). (D)
*Fad (E). (C)

Fad (B), (C)

[Option ID = 21736]

Dysphagia

Dyspnoea

Fi¥ )

s
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| 2. 2

[Option ID = 21737]

3.3

[Option ID = 21738]

4, 4

[Option ID = 21739]

42) Granthas written by Tulsi are

(A)
(B)
(<
(D)
(E)

Choose the correct answer from the options given below ;

(1) (A}, (B) only
(2) (B}, (D) only
(3) (E), (C) only
(4)  (B), (C)only
T Fa 7Y 7
A AT
®) T A
(C) T ufre
@) wTT wH
® i o
I fau o fomreal A © W@l SO W = Fif
0 == (A). B)
@ %54 B). D)
@ = @), (O
@ 4 (B). (O

[Question ID = 5573][Question Description = Q42_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

Ramayana
Ramcharit Manas
Vinay Patrika
Vairagya Shatak
Neeti Shatak

[Option ID = 21740]

2. 2

[Option ID = 21741]

Rt

[Option ID = 21742]

4. 4

[Option ID = 21743]

43) Among the following granthas which are written by Gorakshnath

(A)
(B)
(€)
(D)

Hath Ratnavali
Siddh Siddhant Padthati
Gherand S5amhita

Yoga Beeja

prepp
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(E) Hath Yoga Pradipika
Choose the correct answer from the options given below :
(1) (A}, (B) only
(2) (B), (C) only
(3) (E), (D) only
(4) (B}, (D) only

e @ e g TR ooy 3
(&)  E3 T

B) Tirg frgra wid

(©) =g Hha

(D) = A

EB) =3 Wi

A 3w e foepedl § ¥ wE ST W 9 Hif
1) % (A), (B)
2y w9 B). ()
(8 % (E), (D)

(4 w99 (B), (D)

[Question ID = 5574][Question Description = Q43_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21744]
2. 2

[Option ID = 21745]
3. 3

[Option ID = 21746]
4. 4

[Option ID = 21747]

44) According to Yogavasishtha ‘Aadhi’ and ‘Vyadhi’
(A) Are two causes of Jnana

(B) Are two causes of Sorrow

(C) Freedom from them is a pleasant feeling

(D) Their decay has been termed as Moksha

(E) Freedom from them is a sorrowful feeling
Choose the correct answer from the options given below :
(1) (A), (B), (C) only

(2) (B), (D), (E) only

(3) (A), (D), (E) only

(4) (B}, (C), (D) only

ArEflg * Fun sy vg enfr -
(A ¥ % & F &l

B) W I BRI |
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(©) gl gu @y 2|

(D) = %F WE I T 2

(E) = fafga@sT 2

4= feu o omredi § ¥ w8 39 A =9 Hif
1) w4 (4), B). ©
2) a9 (B), (D), (B)
3  Fa (A), (D). (B)

4  Fad B). (O), D)

[Question ID = 5575][Question Description = Q44 _Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21748]
2.2

[Option ID = 21749]
3.3

[Option ID = 21750]
4, 4

[Option ID = 21751]

45) Terms which are mentioned in Aitreyopnishad are
(A) ‘Sanjnana’

(B) ‘Aajnana’ (power to given order}

(C) ‘¥ijnana’

(D) ‘Prajnana’

(E) ‘Mahajnana’

Choose the correct answer from the options given below ;
(1) (), (B), (C), (E) only

(2) (A), (C), (D), (E} only

(3) (B), (C), (D), (E} only

(4) (A}, (B), (C), (D) only

et S = A 3

@ T

® ‘omA (amdm A i wike)

© e

@ e

E) ‘mEmE

T v 7o ATl 5 © TE ST 1 999 i

(1)  F=a (A), @), (0. (B
2  F (A). (O). D), (E)

3 3@ (B). (), D). (E
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(@  F (A), B). (©). (D)

[Question ID = 5576][Question Description = Q45_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21752]
1)

[Option ID = 21753]
3,53

[Option ID = 21754]
4, 4

[Option ID = 21755]

46) According to Yogakundalyupanishad
(A) there are three reasons for flickering of mind-stuff (Chitta) - Vasana, Vayu, heavy diet
(B) there are two reasons for flickering of mind-stuff (Chitta) - Vaasana and Vaya (Prana)
(C) there are only two tools for getting victory over Pran - Asan, Shaktichalinee Mudra
(D) there are three tools for getting victory over Pran - Mitahar, Asan, Shaktichalini Mudra

Choose the correct answer from the options given below :

(1) (A}, (C) only

(2) (B), (C) only

(3) (B), (D) only

(4) (A}, (D) only

AT % AN

(A Tam E weean  d S — g, an, SAReesieE

(B) o 6t T=reran = 3 HROT — IEA T T (W)
(C) vt o fersm = ke g wEA — IwA, SikhEnfaEt g8t

(D) TN R A % dF weE — iR, o, wtearert g5

I fou o famed O © TR SR 99 i
1) =4 (A), (€)
(2 ¥ (B), (C)
(3) a4 (B). D)
@  Faa (A), (D)

[Question ID = 5577][Question Description = Q46_Yoga_SHAAN_22NOV_5I_Shift1]
1. 1

[Option ID = 21756]
2. 2

[Option 1D = 21757]
3 3

[Option ID = 21758]
4. 4

[Option ID = 21759]

47) According to Yogatattvopnishad primary characteristics of Yogasiddhi are
(A) Sharirlaghuta

(B) Akrishatava

(C) Sthoolta
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(D) Jatharagnivivardhan

(E) Jatharagnimandan

Choose the correct answer from the options given below :
(1) (B), (C) only

(2) (B}, (E) only

(3) (A}, (D) only

(4) (C), (E) only

AR, % STIAR ANTEG & TR @5 F2 T4 3

) e
B  AFcH

€  TyEa

(D) seuiEfaEd

C

(E) FaUE=A

= few e fempedi § ¥ wE I A = Hifee
1) a4 (B), (C)
2) a9 (B), (B)
3  Fa (A), (D)

4  =aa (0). (E)

[Question ID = 5578][Question Description = Q47_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21760]
2. 2

[Option ID = 21761]
3. 3

[Option ID = 21762]
4, 4

[Option ID = 21763]

48) According to Nadabindoopnishad

(A) The name of Dwitiya Matra is ‘Vidhunmatra’
(B) The name of Dwitiya Matra is ‘Patangi’

(C) Tenth Matra has been called ‘Dhriti’

(D) Tenth Matra has been called ‘Aindri’

(E) Twelth Matra has been called ‘Brahmi’
Choose the correct answer from the options given below :
(1) (B), (A), (D) only

(2) (D}, (C), (E) only

(3) (A}, (C), (E) only

(4) (B}, (C), (D) only

TERrgUYg % AR

(&) e orn w1 am fagaen 2
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K—'—,} !u\ll"‘ 21T TNFE TIETM "I:I\.I}Il q
(C)  =odi oo = gfa e TR
(D)  udi g # U e T 2

(E) el AT a1 +al "'P?IT'%

H fau o fedt A @ wd) s = fit
1) F= (B), (A), (D)
@  %aa (D). ©), B
@  FF A), ©), (EB)
4 %= (B). (C), (D)

[Question ID = 5579][Question Description = Q48_Yoga_SHAAN_22NOV_5I_Shift1]
R

[Option ID = 21764]
2.7

[Option ID = 21765]
3. 3

[Option ID = 21766]
4. 4

[Option ID = 21767]

49) According to Patanjala Yogasutra, Mahavrata is beyond the limits of

(A) Samkhya

(B) Jaati
(C) Desh
(D) Kaal
(E) Samay

Choose the most appropriate answer from the options given below :
(1) (A), (B}, (C), (D) only
(2) (B), (C), (D), (E} only
(3) (C), (B), (E), (A} only
(4) (A), (C), (D), (E)only

qrasie AN G % FAHR gEEd e dEnet | e 27

&) @en
B
(C) =

@) ==
(E) g

1 fau o ool § ¥ wew IugeE I W WA I
(1) @ (A), (B), (©), (D)

2 =@ (B). (O), D), (B)

=
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[Question ID = 5580][Question Description = Q49_Yoga_SHAAN_22NOV_5I1_Shift1]

1.1

el (U), (B), (1), (4)

Fad (A). (C). D), (E)

[Option ID = 21768]

2. 2

[Option ID = 21769]

3. 3

[Option ID = 21770]

4. 4

[Option ID = 21771]

50) According to Patanjal yoga sutra the characteristics of ‘Parvairagya’ are

(A)
(B)
(C)
(D)
(E)

Virakti from drishta subjects
Virakti from aanushravik subjects
Vivek khyati

Purushkhyati

Lack of trishna in Gunas

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A}, (B) only
(B), (C) only
(€), (D) only
(D}, (E) only

Taer AT HA % SER W R F A g

(A)

(B)

©
(D)

(E)

72 fri © forfes
st foraa o fanfe
EEEzEIID

5 SR

T H O T ST

et fau e foepeal 4 ¥ @9E ST SO 1 = AU

1
2
(3)

(4)

[Question ID = 5581][Question Description = Q50_Yoga_SHAAN_22NOV_SI_Shift1]

1. 1

w1 (A). (B)
&ad (B), (C)
Fa4 (C), (D)

#2 (D). (E)

[Option ID = 21772]

2. 2

[Option ID = 21773]

s

[Option ID = 21774]

4, 4

[Option ID = 21775]

51) According to patanjal yogsutra despite disturbance by which smriti and samskara remain uniform?

prepp
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(A)
(B)
(€)
(D)
(E)

Mrityu
Roga
Jati
Desh

Kaal

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A), (B), (C) only
(B), (C), (D) only
(C), (D), (E) only
(B), (D), (E) only

U AR G % AEN e ey % e Wid A SR THeT @d 8 7

(A)
®)

(©)
(D)

(E)

1 ¥ 4 ¥ g

fr T2 o famedt § © ) IO S 999 i

€y
(2)
(3)

(4)

*Fas (A), (B), (C)
Fad (B). (C), D)

Fad (C), (D), (E)

%ad (B), (D). (E)

[Question ID = 5582][Question Description = Q51_Yoga_SHAAN_22NOV_SI_Shift1]

1. 1

[Option ID = 21776]

2. 2

[Option ID = 21777]

s

[Option ID = 21778]

4, 4

[Option ID = 21779]

52) According to Hatha Pradipika the benefits of suryabhedi pranayama are :

(A)
(B)
(€)
(D)
(E)

Forehead purification (Kapal shodhan)

Cough mitigation

Stimulates Jatharagni

Removes worms related problems (Krimi doshas)

Enhances capacity of creation and annihilation (Srishti and Sanhar)

Choose the most appropriates answer from the options given below

(1)
(2)
(3)
(4)

(B), (C) only
(C), (D) only
(E}, (D) only
(A}, (D) only

TBIRITAT % FTER FAUE ToTEE ® o 3
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(A) T TEA

(B) % F A

(C) =Xty TEm ol 3
D) Ff 3 Bl e

(E) gt 3R wer 6 avrar sgman 2

Hr= fav o e § ¥ TeY SUIT SO A AR
(1) 4 (B), (O)
@2 %4 (C). (D)
(3  F= (E). (D)

(4 == (4), (D)

[Question ID = 5583][Question Description = Q52_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21780]
Z. 2

[Option ID = 21781]
3.3

[Option ID = 21782]
4, 4

[Option ID = 21783]

53) According to Vasishatha Sanhita which of the following are yamas?
(A) Aparigraha

(B) Dhritih

(C) Dava

(D) Santosh

(E) Tapa

Choose the most appropriates answer from the options given below
(1) (B), (C) only

(2) (A), (B) only

(3) (C), (D) only

(4) (E), (C) only

afirg gz % srEn e § 3 =m 3
(A) IR

B i

(C =

(D) ==

(E)

= fow o forpedt ° @ wew swss SOt @ A AT

(1) I (B). (C)
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2)  Fad (A), (B)
(3) % (C). (D)

@  waa (E), (C)

[Question ID = 5584][Question Description = Q53_Yoga_SHAAN_22NOV_5I_Shift1]
s U5 |

[Option ID = 21784]
2. 2

[Option ID = 21785]
3

[Option ID = 21786]
4. 4

[Option ID = 21787]

54) Which Asanas among the following have been mentioned in Shiva Samhita?
(A) Swastikasana

(B) Kukkutasana

(C) Paschimottanasana

(D) Gomukhasana

(E) Veerasana

Choose the most appropriate answer from the options given below
(1) (B), (C) only

(2) (C), (D) only

(3) (A}, (C) only

(4) (C), (E) only

= o 9 T gizar o sal T enad 3

A i
(B) THIEA

(©)  ufvemramreA
@O  TgEE

E®)

Fr i o et A @ T STE T B TR AR
1) == (B). (O
@ %= (C). D)
(3 %A (A), (©)

@  FFF (0. (B)

[Question ID = 5585][Question Description = Q54_Yoga_SHAAN_22NOV_5I_Shift1]
11

[Option ID = 21788]
2. 2

[Option ID = 21789]
3 3

[Option ID = 21790]
4. 4

[Option ID = 21791]
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55) The characters of ‘Mal Mutrition® are

(A)
(B)
()
(D)
(E)

Choose the correct answer from the options given below

Over Nutrition
Good Nutrition
Under Nutrition
Balanced nutrition

Imbalanced nutrition

(1) (A), (B), (D) only
(2) (B}, (C), (E) only
(3) (A), (C), (E) only
(4) (A), (B), (C) only

“Finy % S A-

(A)  fg Trm

(B) i ammr

(C) 3759 9w

(D)  Hferd g

(E) srEgfem e

I3 v 7o frmedt O © TR SR W 9 R

€y
(2)
(3)

(4)

[Question ID = 5586][Question Description = Q55_Yoga_SHAAN_22NOV_5I_Shift1]

1.1

*Fast (A), (B), (D)
Fad (B). (C). (E)
Fad (4), (C), (B)

Fad (A). (B). (C)

[Option ID = 21792]

2. 2

[Option ID = 21793]

Jvd

[Option ID = 21794]

4. 4

[Option ID = 21795]

56) Bones of Axial Skeleton are

(A)
(B)
()
(D)
(E)

Choose the correct answer from the options given below

(1)
(2)
(3)

Clavicle
Vertebrae
Scapula
Skull
Hyoid

(A), (B), (C) only
(C), (D), (E) only
(A}, (C), (E) only
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(4) (B), (D), (E) only

(&) wifoma
(B) @it
(©  wHgen
(D) TrA
(E) =Eem™s

fra fie e foredl § ¥ w2 I H T HilC
(1) == (A), (B), (C)
(2)  FaE (C), (D). (B)

(3 w99 A), (), B
(4) = (B), (D). (B)

[Question ID = 5587][Question Description = Q56_Yoga_SHAAN_22NOV_SI_Shift1]
1, 1

[Option ID = 21796]
3.7

[Option ID = 21797]
3.3

[Option ID = 21798]
4, 4

[Option ID = 21799]

57) According to yoga sutra types of sorrow {Dukha) are :
(A) ‘Aadhi Daivik’

(B) ‘Aadhi Bhautik’

(C) ‘Parinam dukha’

(D) ‘Aadhyatmik’

(E) ‘Sanskara Dukha’

Choose the correct answer from the options given below
(1) (A}, (B) only

(2) (B), (C) only

(3) (C), (D) only

(4) (C), (E) only

J0T G % ITHR 5@ F TFR §

&)  Confefrs’
B onfuifes
© ‘ofomzgg’
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A1 164, T TAeN € MEL ST i T S,
1) == Q). (B)
@ = ®), (©)
3  F9 (C), (D)
@ == (0). (B)

[Question ID = 5588][Question Description = Q57_Yoga_SHAAN_22NOV_SI_Shift1]
1, 1

[Option ID = 21800]
7.2

[Option 1D = 21801]
3.3

[Option ID = 21802]
4, 4

[Option ID = 21803]

58) According to ‘Hathapradeepika’ the components of pathya Ahara are not
(A) Sathi chawal

(B) Curd

(C) Madhu (Honey)

(D) Mishri

(E) Til

Choose the correct answer from the options given below
(1) (A}, (D) only

(2) (B}, (E) only

(3) (C), (D) only

(4) (D}, (E) only

TEIRIUHT % STIER, U4 SR & 9% T4 5-

&)  TE e

®

(C) =y (=R)

D)

E) fa=

A f2u o fempedl 1 O 9l SR BT == ity

1) w4 (A). (D)
2  Faw (B), (B)
(3 ¥4 (0. D)

(4) waa (D). (E)

[Question ID = 5589][Question Description = Q58_Yoga_SHAAN_22NOV_SI_Shift1]
b 1

[Option ID = 21804]
2. 2

[Option ID = 21805]
| 3.3
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[Option ID = 21806]

4, 4

[Option ID = 21807]

59) According to Bhagavadagita, the properties of satvik Aahar are :

(A)
(B)
(C)
(D)
(E)

The one which gives intellect
Fire Inducing

Pleasure enhancing

Causing worry

Love enhancing

Choose the correct answer from the options given below

(1) (B), (D), (E) only
(2) (A), (B}, (D} only
(3) (A), (C), (E) only
(4) (C), (B), (E) only
Y iar = FER Gifcas HATER & 01 2
(A) g TeF W A
(B) <EEmE®
(©) g@ =eH am
D) Tawar 3eqa B A
E) fa sgr amn

A1 fau o et A4 O wEl 39t # 92F Filu

1)
@
(3)

@

[Question ID = 5590][Question Description = Q59_Yoga_SHAAN_22NOV_5I_Shift1]

ti:

Fad (B), (D), (B)
et (A), (B), (D)
Had (A). (C), (E)

e (C), (B), (E)

[Option ID = 21808]

2. 2

[Option ID = 21809]

S

[Option ID = 21810]

4. 4

[Option ID = 21811]

60) In Bhagwadgita, for the eradication of sorrow (Dukha) what are described as parts of

life-style?

(A)
(B)
(©
(D)
(E)

Choose the correct answer from the options given below :

Aasana
Yukta Aahar
Shat Karma
Mudra
Yukta Vihar

prepp
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(1) (A}, (B) only
(2) (C), (D) only
(3) (D), (E) only
(4) (B), (E) only

wragtia # @ 9 & forg Sfam At % o % wu § 9o e 2

@ s
®  IF SR
© T
®) T

E) 7% e

+fr=t fou 7o formedt 4 @ o s = =4 Hifw
(1)  %aa Q). B)
(2) %@ (C). (D)

(3 I« (D). (E)

(9 I (B), (B)

[Question ID = 5591][Question Description = Q60_Yoga_SHAAN_22NOV_SI_Shift1]
T

[Option ID = 21812]
2. 2

[Option ID = 21813)
3.3

[Option ID = 21814]
4, 4

[Option ID = 21815]

61) Which of the following are the purpose of lesson plan?
(A) To reduce the last minute pressure in the class room
(B) Dealing with difficult students in the class room

(C) To show the importance of modern education system
(D) To show the more interest in teaching Aids

(E) To keep the class towards the goal

Choose the correct answer from the options given below :
(1) (A), (B), (C) only

(2) (A}, (B}, (D} only

(3) (A}, (B), (E) only

(4) (A), (D), (E) only

TS~ Ao 1 Fevd Freteiiad § § W 27

(A) e # 1fdm F auF = g BB BT
(B) e 8 YRR S W FHAE

(C) s fhraor ughy % Aged i gl
(D) e amtiE o orfes = g9t
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(E)

FeqT ] 18T higa STE TET

= fow e fomedt 8§ ¥ w8 s % 9 it

(L
2
(3

(4)

[Question ID = 5592][Question Description = Q61_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

Fa (A), (B), (O)
Fad (A), (B). (D)
*ad (A), (B), (E)

Fad (A), (D). (E)

[Option ID = 21816]

2. 2

[Option ID = 21817]

323

[Option ID = 21818]

4. 4

[Option ID = 21819]

62) Which of the following are not the followers of Natha sampradaye :

(A)
(B)
(€)
(D)
(E)

Caurangi (Sarangi)
Chand
Siddhi-buddhi
Kantha

Kapali

Choose the correct answer from the options given below ;

(1) (A}, (C) only
(2) (B}, (D) only
(3) (C), (E) only
(4) (D), (E) only
freaforiaa 8 @ = 1Y TgE % ST TR 27
(A) =il
® =3
(© Tifg-wfa
D) =3
(E) =l

I T2 o et § O wEl 39 = 99 Hif

(D
(2
(3)

4)

[Question ID = 5593][Question Description = Q62_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

Fad (A), (C)
Faa (B), (D)
Fad (O), (E)

Fad (D), (E)
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[Option 1D = 21820]
2. 2

[Option ID = 21821]
3.3

[Option ID = 21822]
4. 4

[Option ID = 21823]

63) Which of the following are successful teaching-learning approach?
(A) Teacher - Centered Approach

(B) Student - Centered Approach

(C) Curriculum - Centered Approach

(D} Tradition - centered Approach

Choose the correct answer from the options given below

(1) (A}, (B) only

(2) (€), (D) only

(3) (A), (C) only

(4) (B}, (D) only

fr=feilga 4 9 =g G- 1Ry sorm 27

(A)  Torems -wigg sTFm
(B) fermefi-<higa sarm
(C)  Urs=Fa—higa ST

(D) WOU-higd YT

3 v 7o fomewt 4 © TR SR W A i
(1) % (A). (B)
2 = (C), (D)
(3) e (4), (C)
4 %3 (B). (D)

[Question ID = 5594][Question Description = Q63_Yoga_SHAAN_22NOV_SI_Shift1]
2 B

[Option ID = 21824]
1)

[Option ID = 21825]
3.3

[Option ID = 21826]
4, 4

[Option ID = 21827]

64) The word “Education” is derived from the Latin roots :
(A) Educere

(B) Educol

(C) Educare

(D) Edulom

Choose the correct answer from the options given below

(1) (A}, (B) only
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(2) (C), (D) only
(3) (A}, (C) only
(4) (B}, (D) only

“foren’ wreg i seafa e 99 & form osg | 55 27

@A)
(B) Tghie
(© ughm
D) vgam

H= fo v Rrredt § H wE IR F T I
(1) = (4), (B)
@ = (0), (D)
3 = (A (C)
(4) % (B), (D)

[Question ID = 5595][Question Description = Q64_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21828)
2. 2

[Option ID = 21829]
3.3

[Option ID = 21830]
4, 4

[Option ID = 21831]

65) According to Swami Dheerendra Brahmachari which of the following are not known as Yogic Sukshma Vyayama
(A)  Hridgati

(B) Skandha shakti vikasaka

(C) Sarvanga pushti

(D) Uccharansthala tatha vishuddhi chakra ki shuddhi

Choose the most appropriate answer from the options given below :

(1) (A}, (B) only

(2) (C), (D} only

(3) (A}, (C) only

(4) (B), (D) only

wHt Hilg s & R Frefafge |§ o 58 At gen =amam % w9 49 98 s S 8 7
(A za

® TFg uE T

(€) wam gl

D) SEREYE 9 EE =% g

e fou e fampet A @ Ted SuEm ST o =EA AT

() %I« (A), (B)
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2 %34 (). (D)
3  FE (A), (©)

4 =34 (B), (D)
[Question ID = 5596][Question Description = Q65_Yoga_SHAAN_22NOV_SI_Shift1]
11

[Option ID = 21832)
P

[Option ID = 21833]
3.3

[Option ID = 21834]
4. 4

[Option ID = 21835]

66) According to Gheranda Samhita, one should not begin the practice of Yoga in these seasons :
(A) Hemant
(B} Shishir

(C) Versha
(D}  Vasant
(E) Sharad

Choose the correct answer from the options given below ;
(1) (A), (B), (C) only
(2) (B}, (C), (D) only
(3) (C), (D), (E) only
(4) (A}, (C), (E) only

Hwg Gizar ® wgur, Rl safts = 39 giemt o e 3 98t e =g -

5 4

4 =T
®
(€ aw
D) aHa
E =

T f2u o frwedt 8§ TEl S 999 i
1) FT4 A), B), ©)
2 %39 (B), (), (D)
(3 == (). D), (B)
@ e (), (©), (B)
[Question ID = 5597][Question Description = Q66_Yoga_SHAAN_22NOV_SI_Shift1]

1. 1

[Option ID = 21836]
2. 2

[Option ID = 21837]
3.3

[Option ID = 21838]
4, 4
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[Option ID = 21839]

67) Match List | with List Il

List |
(A} Shri Arvind
(B) Maharshi Dayanand
(C) Shyamacharan Lahiri
(D} Maharshi Raman

List Il
(N Gyan Yoga
(Il) Poorna Yoga
(lIll} Upasana Yoga
(IV) Kriva yoga

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)-(), (B)-(llN), (C)-(lI}, (D)-(IV)
(A)-(11), (B)-(IV), (C)-(1), (D)-(IlI)
(A)-(11), (B)-(IN), (C)-(IV), (D)-(I)
(A)-(1l}, (B)-(V), (C)-(I1), (D)-(1)

T 1 % T g 1 = fiem ke

Tei-1

(&) #i s
B) Wl A=

(C) THMIERY wilzg!

(D) =&l T

el 2w 7o feEpeut 9 9 gl 39 1 == Hiia

(1)
2)
3
€Y

[Question ID = 5598][Question Description = Q67_Yoga_SHAAN_22NOV_5I_Shift1]

1.1

A&)-I). B)-D), (C)-D), (D)-IV)
(A)-(ID). (B)-aAV). (C)-D), (D)-AID
(A)-1ID). (B)-dID. (O)-AV). (D)-(D
(A)-(ID). (B)-IV). (O)-(D). (D)-(D)

[Option ID = 21840]

2. 2

[Option ID = 21841]

3. 3

[Option ID = 21842]

4. 4

[Option ID = 21843]

68) According to Kathopnishad

List |
(A) Aatma (Soul)
{(B) Sharir (Body)
(C) Buddhi (Wisdom)
(D) Mana (Mind)

@ T A

List Il
() Sarathi (Charioter)
(I Lagaam (Reigns)
(lll) Rathi (passanger)
(IV) Rath (Chariot)

Choose the correct answer from the options given below :

(1
(2)
(3)

(A)-(l), (B)-(IN), (C)-(IV), (D)-()
(A)-(1), (B)-(1N}, (C)-(lI1}, (B)-(IV)
(A)-(IV), (B)-(1}, (C)-(II), (D)-(I)

prepp
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(4 (A, (B)-(V), (C)-(1), (D)-(D)

= 1 o™ g 1 = fram Fifm $amiee % IR

=1 -0
(A) e @O =g
(B) WK I =
©) 9z i =h
(D) = vy ™
e fou U foepedt @ W wE TR W = HINT

1 @-ADh. B)-LD. (C)-(IV). (D)-@D)
@ A0, ®-1D, (O)-d1D. (D)-0V)
@) (A-AV). B)-. (C)-D), (D)-(ID)
@  (A-AID. B-AV). (O-O, (D)-AD
[Question ID = 5599][Question Description = Q68_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

[Option ID = 21844]
2.2

[Option ID = 21845]
3.3

[Option ID = 21846]
4, 4

[Option ID = 21847]

69) Match List | with List || According to Yoga Kundali Upanishad

List | List Il
(A} Khechari ()] Upapran
(B) Vyan (I} Mudra
(C) Krikal (lll) Bandha
(D) Jalandhar (IV) Pran

Choose the correct answer from the options given below ;
(1) (A)-(}, (B)-(I), (C)-(IV), (D)-(I)
(2)  (A}-(D), (B)-(lIN), (C)-(I1}, (D)-(IV)
(3)  (A)-(V), (B)-(1}, (C)-(I1}, (D)-(1)
(4)  (A)-(I1), (B)-(IV), (C)-(1), (D)-(IIN)

T I % o gt O =1 from fifm | amsgrseguting % oEr

-1 i1
(A) @ @O o
B == (I Fa
©) FF D ==

(D) eteeR vy wmr
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= fou v fermedt A U wd) s @ == ity .
1  (A-AI), B)-3D, (C)-(IV), D)-D)
(2) (A)-(D). (B)-(IID), (C)-(ID). (D)-AV)
3  A-av). B)-@, (O)-dID. (D)-ID
4  A-adn, B@-av), (C)-(I), (D)-dIn

[Question ID = 5600][Question Description = Q69_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

[Option ID = 21848]

2.2

[Option ID = 21849]

353

[Option ID = 21850]

4, 4

[Option ID = 21851]

70) Match List | with List Il

List

(A} Samadhipaad

{B) Sadhan paad

{C) Vibhuti paad

(D) Kaivalya paad

List Il

() Tasya saptdha prant bhumih
pragya

{l) Tasya prashantvadhita samskarat
(ll) Tivra samveganam Aasannah

{I¥) Tatra Dhyanajam Anashyam

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)-(11), (B)-(IM), (C)-(I}, (D)-(IV)
(A)-(1ll}, (B)-(1), (C)-(lI}, (D)-(IV)
(A)-(1V), (B)-(IN), (C)-(11), (D)-(1)
(A)-(D), (B)-(IlN), (C)-(lI}, (D)-(IV)

T I % oy g I = e fifs

(A)
(B)
(C)

(D)

T2 fou o famewt © © wE SO W 9 FIh

(1)
@)
(3)
(4)

g1

TSR

HTYAIRE

faygfaurg
FHaeaug

(A4)-aD), (B)-(1D), (C)-(D). (D)-AV)
(A4)-(ID. B)-D). (O)-1D), (D)-AV)
(84)-@V), (B)-(1), (C)-(D), (D)-@)
(&)-O, (B)-(I1D). (C)-(ID). (D)-IV)

g=i-IT

() o= gwy T
() o UvaaTEal GERE)
(I1T) e s1mEs: |

[Question ID = 5601][Question Description = Q70_Yoga_SHAAN_22NOV_SI_Shift1]

1. 1

[Option ID = 21852]

2. 2

[Option ID = 21853]
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| Tl

[Option ID = 21854]

4, 4

[Option ID = 21855]

71) Match List | with List Il

(A)
(B)
(C)

(D)

List |
Pratham Patal
Dwitiya Patal
Chaturtha Patal

Pancham Patal

List Il
(1) Yoga types and practioners
(I  Mudras
() Philosophical Assumptions

(I¥) Body is a replica of the huge
universe

Choose the correct answer from the options given below :
(A)}-(ID), (B)-(1}, (C)-(l), (D)-(1V)
(A)}-(1), (B)-(IV), (C)-(I1), (D)-(1)
(A)-(1), (B)-(I1}, (C}-(l), (D)-(1V)
(A}-(1V), (B)-(Im), (C)-(IN), (D)-(1)

g 1 % we geht 11 o firem i

(1
(2)
(3)
(4)

(&)
B

(©)

(D)

1 i o aedt § © UEl ST 1 T S

(1)
@
(3)
@

oI

PR I ]

Tedia gz

wg4 TZe

T34 Yddd

(A)-aD. B)-@). (O)-ID. M)-IV)
(A)-(IID), (B)-IV), (C)-(I1), (D)-(T)
(A)-(I). (B)-(D), (C)-(II), (D)-(IV)
(A)-@V). (B)-IID), (C)-(II). (D)D)

gei-IT

(D I F UHR UF TIEE
) =@
(D) 2wt arard

V) wir Freme wewms 6 gfayfa 2

[Question ID = 5602][Question Description = Q71_Yoga_SHAAN_22NOV_SI_Shift1]

1. 1

[Option ID = 21856]

2. 2

[Option ID = 21857]

3.3

[Option ID = 21858]

4, 4

[Option ID = 21859]

72) Match List | with List Il

(&)
(B)
(€)
(D)

List |
(Vitamins)
Vitamin B
Vitamin C
Vitamin D

Vitamin E

List Il
(Deficiency Disorders)
() Malnutrition
() Rickets
(I} Scurvy
(Iv) Pellagra

prepp
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| Choose the correct answer from the options given below :
(A}-(IV), (B)-(ll1), (€)-(11), (D)-(1)
(A}-(I), (B)-(1}, (C}-(I1}, (D)-(IV)
(A)-(1), (B)-(IV}, (C}-(11}, (D)-(I)
(A)-(1V), (B)-(IN), (C)-(IN), (D)-(1)

Tt I % & g I = fem il

(1)
(2)
(3)
(4)

-1
(Frnfem)
(&) TaeIfE it
® ot @
(€ e i
@) ot

4= fiv T e o ¥ = SR o 99 Fi

(1)
(2)
(3)
C)

(A)-@IV), (B)-(I1), (CO)-(ID). D)-@)
W)-@), (B)-AD. (O-1IL). (D)-AV)
(A)-@), B)-AV), (O)-(1ID), (D)-ID
A)-AV), (B)(IL). (C)-(IID). (D)-(D)

g=fi-I1
(ot & Fram Tm)
D
(D FERm
(III) Twel
(IV) wemm

[Question ID = 5603][Question Description = Q72_Yoga_SHAAN_22NOV_SI_Shift1]

1. 1

[Option ID = 21860]

i

[Option ID = 21861]

Fui 3

[Option ID = 21862

4, 4

[Option ID = 21863]

73) Match List |1 with List Il according to yoga sutra

(A)
(B)
©
(D)

List |
Maitri
Karuna
Mudita

Upeksha

List Il
() Towards virtuous persons
() Towards happy persons
(1} Towards sad persons

(IV}y Towards sinners

Choose the correct answer from the options given below :
(A)-(11), (B)-(IN), (C)-(1}, (D)-(IV)
(A)-(U1}, (B)-(N), (C)-(IV), (D)-(1)
(A)-(1¥), (B)-(I}, (C}-(1I1}, (D)-(N)
(A)-(1), (B)-(1}, (C)-(IV), (D)-(IlI)

T 1 % @y g I W e it

(1)
(2)
(3)
(4)

(A)

-1

EEl

(B) =T

(D goeTeAT gei ufa
(I gt 73 % wf
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© Hfew
(D) U

= fow v fompeat § ¥ @t < == il

1
2
(3)
4)

[Question ID = 5604][Question Description = Q73_Yoga_SHAAN_22NOV_5I_Shift1]

1.1

A)-{D), (B)-ID), (C)-@), (D)-AV)
@)-ID), B)-AD. (O)-AV). (D)-D
(A)-@V). (B)-(D), (C)(IID), (D)-(ID)
A)-aD, @)-@), (C)-(IV), (D)-@ID

[Option ID = 21864]

2. 2

[Option ID = 21865]

S

[Option ID = 21866]

4. 4

[Option ID = 21867

74) Match List | with List Il

(A)
(B)
(€)
(D)

List |
(Practices)
Matsyendrasana
Mayurasana
Paschimottanasana

Trataka

(I 3@ 7= = i
(V) it * wfa

List Il
(Benefits)
() Lack of Tandra
(I} Jataranalasya udayam
(lll) Jatarapradeeptim
(I¥) Jarayet Kalakutam

Choose the correct answer from the options given below
(A)-(Hll}, (B)-(1), (C)-(IV}), (D)-(1)
(A)-(1), (B)-(1), (C)-(lI}, (B)-(IV)
(A)-(I¥), (B)-(I), (C)-(lIN), (D)-(1)
(A)-(1l), (B)-(IV), (C)-(I), (D)-(1)

T I % @ g 1 = firem ik

(1
(2)
(3)
(4)

&)

(B)
(©)

(D)

A 2w o faedt 9 ot SR = 9= il

(1
@
3
(4

-1

(7m)

(A)-1D), (B)-AD. (C)-IV), (D)D)
(A)-(ID). (B)-@). (C)-(HD), (D)-AV)
(A)-IV). B)-AD). (C)-AID). (D)D)
(A)-(ID). (B)-IV), (C)-aI), (D)-(D

T=i-11
(Fm™)

(D a2 = A9

) e 324
) “BTRE
IV) T FAHH
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[Question ID = 5605][Question Description = Q74_Yoga_SHAAN_22NOV_5I1_Shift1]

14

[Option ID = 21868]

2. 2

[Option ID = 21869]

i

[Option ID = 21870]

4. 4

[Option ID = 21871]

75) Match List | with List Il

(A)
(B)
()
(D)

List |
(Practices)
Jalandhara bandha
Uddiyvana bandha
Mula Bandha
Jihva bandha

List Il
(Body parts}
() Abdomen
(II) Tongue and palate
(lll) Throat

(I¥) Perinum and anus

Choose the correct answer from the options given below
(A)-(llT}, (B)-(IV), (C)-(1}, (D)-(I)
(A)-(1l}, (B)-(1), (C)-(IV), (D)-(1)
(A)-(I¥), (B)-(1}, (C)-(I1}, (D)-(N)
(A)-(IlI}, (B)-(I), (C)-(IV), (D)-(I)
T 1 % ma geft 11 =1 fiem fifm

(1)
(2)
(3)
(4)

i1
(1)

(A) TR 99

B feam s

© ==Y

(D) o
Hrt faw v feppeat © @ @l So w1 = $ifsw
1) (A)-D). (B)-AV), (C)-(I). D)-(ID
(2) A-Am), B)-O. ©)-(IV), D)-dD
(3) (A)-dV), (B)-(D. (C)-(II), (D)-ID
@  Q-Am), (B)-AD, (O)-(IV). D)-D)

-1
(ardf =1 317)
O ==
@) i 3 AT
[n s

e

[Question ID = 5606][Question Description = Q75_Yoga_SHAAN_22NOV_5I_Shift1]

1.1

[Option ID = 21872]

2. 2

[Option ID = 21873)

Pl

[Option ID = 21874]

4. 4

[Option ID = 21875]

76) ldentify correct sequence of superiority (Param) according to kathopnished :

(A)
(B)

Sensory subjects (Arthah)

Senses (Indriyah)

prepp
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(C) Soul {Aatma)
(D) Mind (Mana)
(E) Intellect {(Buddhi)
Choose the correct answer from the options given below :
(1) (A), (B}, (C), (D), (E)
(2) (D), (E), (A), (B), (C)
(3) (A), (B), (D}, (E), (C)
(4) (B), (A), (D}, (E), (C)
TR F SR AT (7) W IR T

A) =+ R (a7d:)

B) ==

© s

M =

E) s

A fau o et 1 O TE SO H 99 S

@1 @A), B). ), D). E)
2 D.E). &), B). O
3 (A @), D). ®. ©)
@ (B, A, O, E. O

[Question ID = 5607][Question Description = Q76_Yoga_SHAAN_22NOV_SI_Shift1]
1, 1

[Option ID = 21876]
3.7

[Option ID = 21877]
3.3

[Option ID = 21878]
4, 4

[Option ID = 21879]

77) According to Dhyanbindoopnishad

(A) Aasana, pranasanrodha, pratyahar, Dharana, Dhyan, Samadhi are shat - yogang
(B) Siddha, Bhadra, Sinha, Padma - are Aasana chatushtaya

(C) Pranayama, Dharana, Dhyan, Samadhi - are yogangs

(D) Swastika, Kurma, Sarvanga, Shirsha - are Aasana chatushtaya

(E) Yama, Niyama, Aasana, Pratyanar, Dhyan, Samadhi - are shat yogang
Choose the correct answer from the options given below

(1) (A), (E)

(2) (C), (D)

(3) (A), (B)

(4) (B), (E)

ETFTGATg, % ST

(A) TG, TROETY, TeIER, 9RO, O, S-S T 2

®) fag, gz, iz, ™, = 9999 2
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(C)  womEm, 9RO, A, Uiy — AT 2

D) e, wam, i ores wge 2

E) T, Trm, S, Year, S, St -ue F0T 2]
it fau o fempeat A o wE 3R W =AY

@  @).®

@  ©).D

3 ©®».®

@ ®.E

[Question ID = 5608][Question Description = Q77_Yoga_SHAAN_22NOV_5I_Shift1]

1.1

[Option ID = 21880]

2. 2

[Option ID = 21881]

3. 3

[Option ID = 21882]

4. 4

[Option ID = 21883)

78) Arrange the following according to patanjal yoga sutra :

(A)
(B)
(C)
(D)

Lingmatra
Alinga
Yishesh

Avishesh

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A), (B), (C), (D)
(B), (€), (A), (D),
(C), (D), (A), (B)
(D), (€}, (A), (B)

TTaSE =AM A F STER G w1 i

(A TImmE

B) AW

(©) fomm

D) il

T2 o o famedt 8 o TR SR A 99T Wi
(L A, B, (), D)

2 B, (©), A, D,

@) (O.D),A). B

@ D)) A). B

[Question ID = 5609][Question Description = Q78_Yoga_SHAAN_22NOV_SI_Shift1]

SR
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[Option ID = 21884]
B3

[Option ID = 21885]
3.3

[Option ID = 21886]
4, 4

[Option ID = 21887]

79) Arrange these units of glucose in the sequence of mono-saccharides, di-saccharides and poly saccharides
(A) Fructose

(B) Sucrose

(C) Galactose

(D} Lactose

(E)  Starch

Choose the correct answer from the options given below
(1) (A), (B}, (C), (D), (E)

(2) (A), (€}, (B), (D), (E)

(3) (E}, (A), (C), (B), (D)

(4) (E}, (B), (C), (A), (D)

Topb ) et TReat i O, 18 a9 el #50seE % A 4 Suaigd W)

T

@ R
® T
(€ Tem
O R
E =

A1 v o Aeed 4 © TE I 99 it

1 &), B),©), D, (E)
@ A.0.3B.D.E
(3) (B (A) (). (B). D)

@ (E)®B), Q). A, D)
[Question ID = 5610][Question Description = Q79_Yoga_SHAAN_22NOV_5I_Shift1]
1. 1

[Option ID = 21888]
2. 2

[Option ID = 21889]
3.3

[Option ID = 21890]
4, 4

[Option ID = 21891]

80) According to yogsutra arrange the following in words
(A) Styaan

(B) Pramad

(C) Sanshaya

(D) Bhranti Darshan

(E) Aalasya
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. Choose the correct answer from the options given below

(1) (B), (C), (D}, (A), (E)

(2) (A), (C), (B), (E), (D)

(3) (C), (A), (E), (B), (D)

(4) (E), (B), (C), (A), (D)
ArrEnaER = w6 wa futor w1
(A) T
(B) wHIE
© ™
(D)  wieeE
(E) HTAH

fr= fiv o e § ¥ w8 SR W 9 Fi

Y
2
(3)
(4

[Question ID = 5611][Question Description = Q80_Yoga_SHAAN_22NOV_SI_Shift1]

1.1

B). (O). (D). (A). (E)
(A), (C), (B). (E), (D)
(). A, (E). (B). (D)
(E). (B), (O), (A). (D)

[Option ID = 21892)

L

[Option ID = 21893]

3.3

[Option ID = 21894]

4, 4

[Option ID = 21895]

prepp
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81) According to “Teaching methods for yogic practices” arrange the following steps of Yoga practical class in a sequence
of start to end

(A)
(B)
(C)
(D)
(E)

Question and answer
Group practice
Individual practice
Relaxation

Sitting arrangement

Choose the correct answer from the options given below

‘et B sren AR’ g $ SER A e o Feerited TRoN ot e o WRY ¥ Ty

(1) (E), (C), (B), (D), (A)
(2) (A), (E), (C), (B), (D)
(3) (E), (C), (B), (A), (D)
(4) (A}, (E), (B), (C), (D)
%0 1 geraiead

(A) U

B TE I
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«
D)
0

Fra fou o famew O © TR SR 99 HIe

(1)
(2)
(3)
4

[Question ID = 5612][Question Description = Q81_Yoga_SHAAN_22NOV_SI_Shift1]

Tl

dafrs a1y

&

s34 $i sagEen

(E), (C), (B). (D), (A)
(A). (E), (O). (B), (D)
(E). (C), (B). ). (D)
&), (B), (B). (O). (D)

[Option ID = 21896]

2. 2

[Option ID = 21897]

323

[Option ID = 21898]

4. 4

[Option ID = 21899]

82) Arrange the follwoing practices according to Sapta Sadhana of Gheranda Samhita

(A)
(B)
()
(D)
(E)

Choose the correct answer from the options given below

(1)
(2)
(3)
(4)

frefafiag srenal =61 dig afga & 99 o1ee % IHER geaiod

(A
(B)
©)
(D)

(E)

i f2u 7 e @ © U9 SO 1 99 $iT

(1)
(2)
(3
(4)

| [Question ID = 5613][Question Description = Q82_Yoga_SHAAN_22NOV_SI_Shift1]

Mudra
Asana
Shatkarma
Dhyana

Pranayama

(C), (B), (E), (A}, (D)
(C), (D), (B), (A), (E)
(C), (B), (A), (E), (D)
(C), (A}, (B), (E), (D)

<t

HAEA

r

N

A

(C). (B). (E), (&), (D)
(©). (D). B), (A). (E)
(©), (B), (A), (E), (D)
(C). (A, B). (E). (D)
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[ 1. 1

[Option ID = 21900]
2.3

[Option ID = 21901]
3.3

[Option ID = 21902]
4, 4

[Option ID = 21903]

83) Statement | : Shri Arvind was a frreedom fighter and a Yogi
Statement Il : His disciple Shri Maa has not established an Arvinda Ashram in Pondichery
In the light of the above staments, Choose the correct answer from the options given below
(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

ﬁﬁﬁﬁiﬁﬁ'{qq%
w1 off snfae v weaerar gAET S I o)

o I1; =39 forem ot 57 3 wivead ¥ anfae st <6 s =2 6

UG YA % el |, T 3 7u fRepedi § 9 @91 S 9 i

(1) A I 3ic II ol o 2
(2)  =9A I 3R II SF 19eT 2
(8) a1 w2, Wit e I 3199 ©

(4) W I 30 2, dteed v I 9w 2

[Question ID = 5614][Question Description = Q83_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21904]
2.2

[Option ID = 21905]
3.3

[Option ID = 21906]
4, 4

[Option ID = 21907]

84) According to Mandookys Upanishad
Statement | ; ‘Tejas’ of swapna state is the third step of onkara
Statement |l : ‘Pragy’ of Sushupti state is the second step of onkara
In the light of the above statements, choose the most appropriate answer from the options geiven below
(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct Statement Il is incorrect

(4) Statement | is incorrect Statement Il is correct

Fr& @ wom g o 2
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[Question ID = 5615][Question Description = Q84_Yoga_SHAAN_22NOV_5I1_Shift1]

1.1

[Option ID = 21908]

2. 2

[Option 1D = 21309]

i

[Option ID = 21910]

4. 4

[Option ID = 21911]

g5) Statement I: Cessation of mental modifications of mind stuff (Chittavritti Nirodh) is called Yoga.
Stattement Il :  The state of absolute cessation of all mental modifications of mind stuff is Nirbij Samadhi
In the light of the above statements, choose the correct answer from the options given below

(1) Both Statement | and Statement Il are true

(2) Both Statement | and Statement Il are false

(3) Statement | is true but Statement Il is false

(4) Statement | is false Statement Il is true

TR e U §

wyA 1: et o FRig == e s 2

wA I:  wefi gfl % waen oy $i fBofa & feita w2

I HUA * oI 1, 19 f5u 7 e 8 8w s w99 Fifsu

(1) e 1 3k 1T g oo 2
(2 W I 2t I 29T 75 3
(3) e I 99 2, i e I o1o0q 2

(@ FEI 5T e, | 71 I & 2

[Question ID = 5616][Question Description = Q85_Yoga_SHAAN_22NOV_SI_Shift1]
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[Option ID = 21912]
2.2

[Option ID = 21913]
3.3

[Option ID = 21914]
4. 4

[Option ID = 21915]

86) Given below are two statements: one is liabelled as Assertion A and the other is liabelled as Reasen R

Assertion (A) : Practice of Pranayama cures all ailments
Reason (R) : The way animals like elephant, tiger are gradually tamed, Pranavayu should similarly be
controlled

In the light of the above statements, choose the most appropriate answer from the options given below:
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

el 3 T o & v AU (Assertion A) = ¥9 4 faflgd € af 350 3WF F (Reason R)

T H;
sifERgA (A) WO G G W S U T & g S 2
0 (R) o wpw zefl, w9 onfe = dfR-4R =m 4 fFm e 2 SE R e | Fesm

T FHT AR

IHIT FUF = A |, 9 fm 7o fawet 9 ¥ Ta S S A 99 S

() (A) 3R (R) 3t B8 2 31 (R), (A) F1 72 = &
()  (A) 3R (R) < w# E, wifeT R), (A) =l w9l =ame 8 2
(3 (A Td 2, afFE ) TE TE 2

@ (AT T R, 9 R) TR 2

[Question ID = 5617][Question Description = Q86_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21916]
Z. 2

[Option ID = 21917]
3.3

[Option ID = 21918]
4, 4

[Option ID = 21919]

87) Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion (A) : Vitamin B12 is essential for synthesis of DNA in RBCs
Reason (R) : Its deficiency leads to failure in maturation of the cell and reduction in the cell division
In the light of the above statements, choose the most approproiate answer from the options given beow
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) i5 not correct but (R) is correct

I af = feu o 2: v Il (Assertion A) &4 W faflag 2 di 294 39 %0 (Reason R) =
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[Question ID = 5618][Question Description = Q87_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option 1D = 21920]
2. 2

[Option ID = 21921]
3.3

[Option ID = 21922]
4. 4

[Option ID = 21923]

88) Given below are two statements

Statement I: Increased secretion of thyroid hormone is called hyper thyroidism
Statement |l: Grave’s disease is an autoimmune disease and it is the most common cause of
hyperthyroidism

In the light of the above statement, choose the correct answer from the options given below
(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true
R wmfRgm .
wyH [ uE{Es ¥ W Scaies e g aiEissa e 2

Ho I1:  Tsg T U AT T 2 3R 17 2w sEfesn = oy Wig HR0 2

IR FUT F TF |, A9 f3u Te fFwew 7 9 wel 3 % 999 il

1 w13 a3
(2 w1 3R I 2ET e B
(8 Fw 1T 2, ofd 5 11 15 2
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[Option ID = 21924]

2. 2

[Option ID = 21925]

3

[Option ID = 21926]

4. 4

[Option ID = 21927]

89) Given below are two statements:

In the light of the above statement, choose the most appropriate answer from the options given below

(1)
(2)
(3)
(4)

Statemnent |: Value based education seems absent in modern times

Statement II: Maximizing self gratification is the moral value

Both Statement | and Statement Il are correct
Both Statement | and Statement |l are incorrect
Statement | is correct but Statement Il is incorrect

Statement | is incorrect Statement Il is correct

= @ vy e 3 .

F I gl @ o e aw fien w5 ovna e < 2

Fv I1: T = forg arféer g@ s =5em 31 Afaes 709 2

SR U = AT o, Aie U e faereat 0 O w3 =1 weH whifau

@)

)

3

(4)

[Question ID = 5620][Question Description = Q89_Yoga_SHAAN_22NOV_SI_Shift1]

1. 1

FoA 1 &R I1 21 93 2
e I 30 11 21 s1|eq &
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[Option ID = 21928]

i

[Option ID = 21929]

L

[Option ID = 21930]

4, 4

[Option ID = 21931]

90) Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R

In the light of the above statement, choose the most appropriate answer from the options given below

(1
(2)
(3)
(4)

4= 3 Fom fw v 3 v o1fiem (Assertion A) ¥ %9 § faflgg 2 4 GLLY 39% T (Reason R) &

Assertion (A) : Practice of Asanas and Shatkarma before Kumbhaka is essential

prepp
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Reason (R) : Kumbhaka is fully beneficial only when the body becomes firm by practising Asanas and

purified by practising Shatkarma

Both (A) and (R) are correct and (R) is the correct explanation of (A)

Both (A) and (R) are correct and (R) is NOT the correct explanation of (A}

(A) is correct but (R) is not correct

(A) is Not correct but (R) is correct
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[Question ID = 5621][Question Description = Q90_Yoga_SHAAN_22NOV_S5I_Shift1]
1.1

[Option ID = 21932]
2. 2

[Option ID = 21933)
£

[Option ID = 21934]
4, 4

[Option ID = 21935]

Topic:- Yoga_ B

1) Read the following paragraph carefully and answer the five questions that follow :

Diabetes mellitus is commonly known as diabetes. It is a metabolic disease, which causes high blood glucose level. The
insulin hormone, which secrets from pancreas gland, can regulate the metabolism of glucose. In this process glucose
molecules get stored inside the mitochondria of cells in the form of glycogen.

This process is known as glycogenesis, If pancreas does’nt secretes an adequate amount of insulin hormone that condition is
known as diabetes mellitus type 1 and if pancreas secretes some amount of insulin hormone but due to some resistance
body does not use that synthesised hormone that condition is known as diabetes mellitus type 2. If a pregnent women gets
affected by diabetes mellitus that is known as gestational diabetes. The new bron baby under gestational diabetes get more
prone for diabetes mellitus type - 2.

The common symptoms for diabetes are polyurea, polyphasea, polydipsea, weight loss, blurry vision and cardiovascular
diseases etc. It seems that yoga practices can exert very positive effects on diabetes mellitus patients. Neti, Dhauti,
Mandukasana, Utrasana, Ardhamatsyendrasana, Katichakrasana, suryabhedana pranayama and bhramri pranayama are most
effective practices for the management of diabetes mellitus.

Treforiere T @t T wR SR e wee e A

SHEfPS HaEed B AEEA: 9gHE % w9 0 FF ST 21 T8 U =9ved gedl 1 3 S s o |
IR ohT A WG WAt 2| STHIEE T @ Eiad A arel SHier ST IR % ST i a5 Ehdl
21 39 v A wha % o] TaEHe % BT § SRRl % AEeEfen § 9w A S Bl w9 v
TATSPRH T el ¢ AR SFeE AT AR § SgioM g 6 O TEl Sl 3 d T I nyHE
7T 1 FEOwdl 2 IR 3R SFE oW TEE B AiSt AT § W|E FaT 3 SR HiauE Tialy % HE
TR 39 WiTe® BWE B STAN T B A 9 TR SEE FUEE 2EY 2 Heerdl Bl qAfe FS THed AfEen
wepig @ difsa Bl 2 9 28 TRue auiE wE AT 21 ARTEe AuRg 6 sEen § 9 o= # eg-2
TR T < e fos Tl ¢| TYYE * A @e § gy, oAfagan, sifaerd, a5 % g, g
gUe TS I T Hedl W, SeNfe| UH ' TN @ 6 APmers ¥ uygdg % URA W Age ThReE
T 9% WAl Bl Afq, i, TEREE, FEEE, AEHCEEE, W, FHYE TOmEE S 9
IO HYHE % Y6 % fo Haiiems JHTE S 3|

The storage of glucose molecules in the mitochondria is known as
(1) Glycolysis (2} Glycogenesis
(3) Kreb's cycle (4) Cellular absorption

T S B i i B ™ Y
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[Question ID = 5627][Question Description = Q91_Yoga_SHAAN_22NOV_SI_Shift1]
1. 1

[Option ID = 21956]
2, 2

[Option ID = 21957]
3.3

[Option ID = 21958)
4, 4

[Option ID = 21959]

2) Read the following paragraph carefully and answer the five questions that follow :

Diabetes mellitus is commonly known as diabetes. It is a metabolic disease, which causes high blood glucose level, The
insulin hormone, which secrets from pancreas gland, can regulate the metabolism of glucose. In this process glucose
molecules get stored inside the mitochondria of cells in the form of glycogen.

This process is known as glycogenesis. If pancreas does’nt secretes an adequate amount of insulin hermone that condition is
known as diabetes mellitus type 1 and if pancreas secretes some amount of insulin hormone but due to some resistance
body does not use that synthesised hormone that condition is known as diabetes mellitus type 2. If a pregnent women gets
affected by diabetes mellitus that is known as gestational diabetes. The new bron baby under gestational diabetes get more
prone for diabetes mellitus type - 2.

The common symptoms for diabetes are polyurea, polyphasea, polydipsea, weight loss, blurry vision and cardiovascular
diseases etc, It seems that yoga practices can exert very positive effects on diabetes mellitus patients, Neti, Dhauti,
Mandukasana, Utrasana, Ardhamatsyendrasana, Katichakrasana, suryabhedana pranayama and bhramri pranayama are most
effective practices for the management of diabetes mellitus.

Fretorfiom weriyr it s o SR oo wer o+ o

ST NS B WHAG: 9998 F &9 0 S 9l 2| 72 O s wwdl I 2 e o °F |
T 1 AT W8 W1 21 STETEE T W Eriad B ol Sgier SHIM TR % SEdE $i SEhE W @
21 33 UBFW § TG % OT] TAEEGA F WU § HIUEGT % AESEIeM H S a3 Wi Bl W wiEem
THATEHISH Y wEerd) 21 4f2 arEmE vty OEr 0 sgiem s @ a6 R B oar qg Sawn wyug
2120 1 =FEerdl B 3 IR S SYio gEE T IS AnH W S T & 3R Riged ufee & s
vk 39 Aivetz g o1 AP T8 B Uil at Fg € AT 2T 2 el 2| afd wig miad afgen
nye O fifsa 2l 2 @ 0 TRITS Ay et Sl 3| TWEIHE AYHE I 3t W T s H 2m-2
ngHE BH I TAE ST 2l 2| nYTe % W S § agy, stfag, sifacam, a9 W g, g
Y9 IS AR TEF Wadl T, TIE| UET <@ TN 2 T APmeI™ ¥ myHE % UEl W Sgd SR
T U3 WAl Bl A, O, TgREE, SEEH, AGHCEREE, FCame, FHUT oA S 9
IO AYHE % TEGA % fo Haiiers TaTE e 3|

In which form the glucose is stored in the mitochondria?
(1) Glucose (2) Glycogen

(3) Sucrose (4) (Galactose
T Arseiite o fhe =0 A W BT 27
(1) I (2) TeAgFRISA

" T “

(3 g (4) T
[Question ID = 5628][Question Description = Q92_Yoga_SHAAN_22NOV_5I_Shift1]
< 0

[Option ID = 21960]
1)

[Option ID = 213961]
3.3

[Option ID = 21962]
4. 4

[Option ID = 21963]

3) Read the following paragraph carefully and answer the five questions that follow :
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Diabetes mellitus is commonly known as diabetes. It is a metabolic disease, which causes high blood glucose level. The
insulin hormone, which secrets from pancreas gland, can regulate the metabolism of glucose. In this process glucose
molecules get stored inside the mitochondria of cells in the form of glycogen.

This process is Known as glycogenesis. If pancreas does’'nt secretes an adequate amount of insulin hormone that condition is
known as diabetes mellitus type 1 and if pancreas secretes some amount of insulin hormone but due to some resistance
body does not use that synthesised hormone that condition is known as diabetes mellitus type 2. If a pregnent women gets
affected by diabetes mellitus that is known as gestational diabetes, The new bron baby under gestational diabetes get more
prone for diabetes mellitus type - 2.

The common symptoms for diabetes are polyurea, polyphasea, polydipsea, weight loss, blurry vision and cardiovascular
diseases etc, It seems that yoga practices can exert very positive effects on diabetes mellitus patients. Neti, Dhauti,
Mandukasana, Utrasana, Ardhamatsyendrasana, Katichakrasana, suryabhedana pranayama and bhramri pranayama are most
effective practices for the management of diabetes mellitus,

Trertorfiom momyr @t saTge wB SR e oo s am E:

ST HeEed B WHTAG: 9998 F &9 0 S 9l 2| A2 O S gedi 1 2 e e o |
T 1 AN q¢ W1 21 STEEE T W @riad 2 ael Sgier SIM TR % 9AdeE $i EhE W @
21 39 ulF 0 TR % ST TOTSEA B WY § HINEeT % ARG H S Bl A 2| A8 Ui
TATERISHIGY FEdrdl 21 4fd 3raEE gAte GEn g ey g @ | T8 R 2 A A8 e nyng
2120 1 =FEerdl B 3 IR S Sgio g R IS AE0 W S T & 3R Riged uifee ok s
TR 39 Aiverz g 61 AP FE B Uil at Fg € AT 2T 2 heardl 2| Afd wig miad Atz
nye O fifsa 2l 2 @ 0 TRITS Ay et ST 3| WEIHE AYHE I e W S s h -2
ngE BF I T S 2l 2| nye S e S § agy, stfage, sifacam, a9 s g, g
YU TS IR A HEdl U, TS| UHT 3@ T @ 7R APmer® @ mydE § UPEl W q50 ThReT
T US WAl Bl A, O, TgREE, SEEE, AGHCERE, HCme, FHUT oA S 9
IO AYHE % Y6 % foe Haiiers IS e 3|

If pancreas does not synthesise an adequate amount of insulin hormone that condition is known as
(1) Diabetes mellitus type 1 (2) Diabetes mellitus type 2
(3) Diabetes insipidus (4) Hypoglycemia

T ST T A0 ° SEieE 2T T STV TR a2 a1 T8 AGEA HEATl 7

() =g =7 | (2) TgHE T 2
(3) SERES sy (&) EETTAEARET

[Question ID = 5629][Question Description = Q93_Yoga_SHAAN_22NOV_5I_Shift1]
: V58
[Option ID = 21964]
i)
[Option ID = 21965]
3013

[Option ID = 21966]
4. 4

[Option ID = 21967]

4) Read the following paragraph carefully and answer the five questions that follow :

Diabetes mellitus is commonly known as diabetes. It is a metabolic disease, which causes high blood glucose level. The
insulin hormone, which secrets from pancreas gland, can regulate the metabolism of glucose. In this process glucose
molecules get stored inside the mitochondria of cells in the form of glycogen.

This process is known as glycogenesis, If pancreas does’nt secretes an adequate amount of insulin hormone that condition is
known as diabetes mellitus type 1 and if pancreas secretes some amount of insulin hormone but due to some resistance
body does not use that synthesised hormone that condition is known as diabetes mellitus type 2. If a pregnent women gets
affected by diabetes mellitus that is known as gestational diabetes, The new bron baby under gestational diabetes get more
prone for diabetes mellitus type - 2.

The common symptoms for diabetes are polyurea, polyphasea, polydipsea, weight loss, blurry vision and cardiovascular
diseases etc, It seems that yoga practices can exert very positive effects on diabetes mellitus patients. Neti, Dhauti,
Mandukasana, Utrasana, Ardhamatsyendrasana, Katichakrasana, suryabhedana pranayama and bhramri pranayama are most
effective practices for the management of diabetes mellitus,

Fretorfize maiyr @ s o iR Tt wor o ew R
ST NS B WHEG: 9998 7 &9 0 S 9l 2| A2 O S gedl 1 2 e s o |
TR T AT 9 W 2| STEIEE A ® @vad S aTen Sgfor 2 TER T ST $i SEte B ahd

21 30 WiE A T % O] TaTSEA A T § WIESH % URIEISH o W R 9 8 =@ uiEa
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THATEHISH U el 21 4f2 arEEm vty OEn 4 sgfem g @ e 6 R 2 oar qw sawn wyug
2120 1 FEerdl B 3 SR e Syio B T IS AER W S T B 3R Riged ufee o o
TR 39 ATtz FME &1 I FE B UiaT at F5 € AT 29 2 heardl 2| afd wig miad afzen
ne O fifsa 2l 2 @ 0 TRITTS Ay et ST 3| TWEIHE WY I 3t W S s H 22
TR BF I TAE S 2l 2| nye % W S § agy, stfage, sifacam, a9 s g, g
YU TS IR A Hedl U, TS| UHT 3@ T @ 7R APmer® @ myHE § UPEl W Ag0 THReHE
T U @Al 2l Afd, didl, TR, FEWH, SIgHCEgEE, FOameE, Tausd WOEm SR W
TTETH TYEE % TEUE % fo, gariaes guTEl e 2|

The new born baby under gestational diabetes gets prone for
(1) Diabetes mellitus type 1 (2} Diabetes mellitus type 2

(3) Gestational diabetes (4) Diabetes insipidus

TRTME TYHE hi TEET © S S 1 B W U B A ATE B 2 7

(1)  mgwE 7Ev | (2) WHE 7y 2
(3)  TEYAE Ty (4) =ERES Ffbfisa

[Question ID = 5630][Question Description = Q94_Yoga_SHAAN_22NOV_SI_Shift1]
g st

[Option ID = 21968]
7.2

[Option ID = 21969]
3.3

[Option ID = 21970]
4, 4

[Option ID = 21971]

%) Read the following paragraph carefully and answer the question that follow :

Diabetes mellitus is commonly known as diabetes. It is a metabolic disease, which causes high blood glucose level. The
insulin hormone, which secrets from pancreas gland, can regulate the metabolism of glucose. In this process glucose
molecules get stored inside the mitochondria of cells in the form of glycogen. This process is known as glycogenesis. If
pancreas does’nt secretes an adequate amount of insulin hormone that condition is known as diabetes mellitus type 1 and if
pancreas secretes some amount of insulin hormone but due to some resistance body does not use that synthesised hormone
that condition is known as diabetes mellitus type 2. If a pregnent women gets affected by diabetes mellitus that is known as
gestational diabetes. The new bron baby under gestational diabetes get more prone for diabetes mellitus type - 2, The
common symptoms for diabetes are polyurea, polyphasea, polydipsea, weight loss, blurry vision and cardiovascular diseases
etc. It seems that yoga practices can exert very positive effects on diabetes mellitus patients. Neti, Dhauti, Mandukasana,
Utrasana, Ardhamatsyendrasana, Katichakrasana, suryabhedana pranayama and Bhramri pranayama are most effective
practices for the management of diabetes mellitus.

Trertorfiam mory @t sargd ug SR oo oo & e E:

ST HeEied B WHE: 9998 F &9 0 S 9@l 2| A2 O S Hedl 1 2 e o o |
TR 1 AT 98 W1 21 STEEE T W wTied 2 Il Sgier SHIA TR % 9ATeE $i FEhE W @
21 38 ufFE § WO % W] TAEESA B S § WIS % WESRIeT N S a2l 9 Bl A WiEm
TATERISHIGY HEerdl 21 4fd 3rEE gAls GEn g ey g @ A T8 R £ A T8 SR nyng
2120 1 FEerdl B 3 IR A SgioH BRI R IS AEH W S T & 3R Riged ufene o s
i 3T Wi FMH 1 9T T8 B Uil 9 F5 A€ YT TR 2 hednd! 21 AR g madl nigen
nyig O difsa i 2 a1 30 TSI WgHE el I 3| TRRENE AgAg o e § S Sl W 2ig-2
ngHE BH I T ST 2l 2| nyTe % W S § agy, stfage, eifacam, a9 s g, g
YU TS IR A WEdl U, TS| UHT 3@ T @ TR Aemer® @ mygdE F UPAl W A5G TOReHE
T U3 WAl Bl Afd, O, TEREE, SEEH, AEHCERE, HCOmEE, FHUT oA S 9
IO HYHE % YEGA % fo qaiiers YaTE S1end 3|

Which pranayama is most suitable for the management of diabetes mellitus?

(1) Bhastrika pranayama (2) Nadishodhana pranayama

(3) Surya bhedan pranayama (4) Ujjayee pranayama
AT o TEUA T 70 A T TOTAHE FAITE S 7 7

(1) SRR TOTETH Q) ArEEEE o
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4, 4

[Option ID = 21975]

Topic:- Yoga_C

1) Read the following paragraph carefully and answer the five questions :

Cessation of modifications of mind-stuff is yoga. Here the question arises that what are modifications of mind-stuff? While
explaining the meaning of modification, Vyas Ji has said that the praticular outcome of mind-stuff is modification. As the
mind stuff gets objectified after coming into contact with the object, it is called outcome of mind-stuff, When the mind-
stuff gets objectified ideas concerning that particular object germinate in the mind-stuff. In general terms ideas themselves
are called modifications.

There are innumerable objects in the world and many ideas are associated with one particular object. Thus, it appears
difficult to have knowledge about all the ideas Maharshi Patanjali has categorized all the ideas in five parts in form of
modifications. These are Pramana, Viparyaya, Vikalp, Nidra and Smriti. Ideas related to all objects of the world fall within
these five modifications.

Modifications are five type of Jnanai Pramana is Yathartha Jnana. Viparyaya is Mithya Jnana. Vikalp is only Shabdik Jnana.
Nidra is Abhavjanya Jnana and Smriti is Anubhavjanya Jnana. These modifications are of two types: Klishta and Aklishta. By
cessation of these two types of modifications the yogi attains his own true self,

=1 ey Y ST 9 o R T wvw mem

fom =F gfoet = Fera 2 =i 21 == wva scom e 2 e Fom gfeet o 27 st 3 gfa o 19 saw g
a1 & T fom = afomm fiw & gfa 2) fom =1 faow % oord o s farer 2 & R = oformm
Feara 2| oA % Ay oA ® fFE | su e g gafe R e e 2 o wee | e e
=l # 3 Fed 2

GHR § sree fawm 2, iR uw fawy 9 gl 2 o@s e 2id 2 59 usR awe e s e wisa
i giar 21 9eff wdefa 4 e foemw w gfat & w0 § uf=w won ° sie o #1 3 E- e, fedh,
forre, Fgn st wyfa) 37 ot=r il = sworia U = a9 fawl o Fefte faem on 9 §

gt s % & ufa 97 ) v wd ww 2| el Wen w3 e Saw wies w2 Fe
AGETA TH 3 990 WG 3AVES 7H 3| 7 aftE o @ afEeE % 92 ¥ 9 wer fi 31T g T
it afei # Fa = arht s @ | e g s 3

According to Vyasji, modification is:

(1) Feeling of pleasure in the mind-Stuff

(2) Feeling of sorrow in the mind-stuff
(3) The particular outcome of the mind-stuff
(4) Auspicious-enauspicious acts

=@ Sfi % srEn g 2

() e 5 gw i SR

2  fuwd g & sEala

(3)  Fam = wiomm famm

(4  gu-oTgy w
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2) Read the following paragraph carefully and answer the five questions :

Cessation of modifications of mind-stuff is yoga. Here the question arises that what are modifications of mind-stuff? While
explaining the meaning of modification, Vyas Ji has said that the praticular outcome of mind-stuff is modification. As the
mind stuff gets objectified after coming into contact with the object, it is called outcome of mind-stuff, When the mind-
stuff gets objectified ideas concerning that particular object germinate in the mind-stuff. In general terms ideas themselves
are called modifications.

There are innumerable objects in the world and many ideas are associated with one particular object. Thus, it appears
difficult to have knowledge about all the ideas Maharshi Patanjali has categorized all the ideas in five parts in form of
modifications. These are Pramana, Viparyaya, Vikalp, Nidra and Smriti. Ideas related to all objects of the world fall within
these five modifications.

Modifications are five type of Jnanai Pramana is Yathartha Jnana, Viparyaya is Mithya Jnana. Vikalp is only Shabdik Jnana,
Nidra is Abhavjanya Jnana and Smriti is Anubhavjanya Jnana. These modifications are of two types: Klishta and Aklishta. By
cessation of these two types of modifications the yogi attains his own true self.

=t ey Y s 9 o R T Tvw mem
forr =i it =1 fFera 2 = 21 =1 wea som g 2 T fom gt o 27 =wsh 3 gfa = o1 saw 5o
a1 ¢ 5 fom = ofom few & gl 21 fe w1 fer % ook o SeR favsr g @ R = ofomm
Fzar 2| oA % AR 2/ ® e | su v o gafe fEm e e 2 o weel | en e
=l B JRT Fed 2
Tan § s e £, o v v o weefg ) ore e B 31 59 ueR awe B s wisa
wdia giar 21 Heff ugefa 4 e faemt w gfiat & w0 § ufw swon ° sie o #1 3 E- ge, fed,
forre, Fgn st wyfa) 37 ot=r il & ororia 9uR = 9 fawl o Fefte faer on S §
gt s % & ufa 97 #) v =wd ww 2wl Wen o w3 eew Saw wies wm 2| Fe
AMES T 2 a0 Wi 3A¥E= T 2| 7 IfE Fae v sifeae % 99 ¥ 9 TR 2 H g TR
it afei # Fa #==arht s @ | fSe g s 3

Patanjali has categorized all the ideas in how many parts?
(1) Three parts (2} Five parts
(3) Four parts (4) Six parts

YAt 1 O = i e v | et 20

(1) @y g (2) = won §
(3) IRHMH (4) = 9 A
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3) Read the following paragraph carefully and answer the five questions :

Cessation of modifications of mind-stuff is yoga. Here the question arises that what are modifications of mind-stuff? While
explaining the meaning of modification, Vyas Ji has said that the praticular outcome of mind-stuff is modification. As the
mind stuff gets objectified after coming into contact with the object, it is called outcome of mind-stuff, When the mind-
stuff gets objectified ideas concerning that particular object germinate in the mind-stuff. In general terms ideas themselves
are called modifications.

There are innumerable objects in the world and many ideas are associated with one particular object. Thus, it appears
difficult to have knowledge about all the ideas Maharshi Patanjali has categorized all the ideas in five parts in form of
modifications. These are Pramana, Viparyaya, Vikalp, Nidra and Smriti. Ideas related to all objects of the world fall within
these five modifications.

Modifications are five type of Jnanai Pramana is Yathartha Jnana, Viparyaya is Mithya Jnana. Vikalp is only Shabdik Jnana,
Nidra is Abhavjanya Jnana and Smriti is Anubhavjanya Jnana. These modifications are of two types: Klishta and Aklishta. By
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cessation of these two types of modifications the yogi attains his own true self.

=t ey @ ST 9% o R T Tew mem A
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Anubhavjanya Jnana is:

(1) Pramana (2) Vvikalp

(3) Smriti (4) Nidra
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4) Read the following paragraph carefully and answer the five questions :

Cessation of modifications of mind-stuff is yoga. Here the question arises that what are modifications of mind-stuff? While
explaining the meaning of modification, Vyas Ji has said that the praticular outcome of mind-stuff is modification. As the
mind stuff gets objectified after coming into contact with the object, it is called cutcome of mind-stuff, When the mind-
stuff gets objectified ideas concerning that particular object germinate in the mind-stuff. In general terms ideas themselves
are called modifications.

There are innumerable objects in the world and many ideas are associated with one particular object. Thus, it appears
difficult to have knowledge about all the ideas Maharshi Patanjali has categorized all the ideas in five parts in form of
modifications. These are Pramana, Viparyaya, Vikalp, Nidra and Smriti. Ideas related to all objects of the world fall within
these five modifications.

Modifications are five type of Jnanai Pramana is Yathartha Jnana. Viparyaya is Mithya Jnana. Vikalp is only Shabdik Jnana.
Nidra is Abhavjanya Jnana and Smriti is Anubhavjanya Jnana. These modifications are of two types: Klishta and Aklishta. By
cessation of these two types of modifications the yogi attains his own true self,
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Anubhavjanya Jnana is:
(1) Pramana {(2) Vikalp
(3) Smriti (4) Nidra
T} e TaEy A U B S g
(1) Faw fFee gt % By =6 ©
(2) waw faae ghoE & g 6 W
(8 gl wwR i it & Py we w
4 IFE W TE TR
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%) Read the following paragraph carefully and answer the five questions :

Cessation of modifications of mind-stuff is yoga. Here the question arises that what are modifications of mind-stuff? While
explaining the meaning of modification, Vyas Ji has said that the praticular outcome of mind-stuff is modification. As the
mind stuff gets objectified after coming into contact with the object, it is called outcome of mind-stuff. When the mind-
stuff gets objectified ideas concerning that particular object germinate in the mind-stuff. In general terms ideas themselves
are called modifications.

There are innumerable objects in the world and many ideas are associated with one particular object. Thus, it appears
difficult to have knowledge about all the ideas Maharshi Patanjali has categorized all the ideas in five parts in form of
modifications. These are Pramana, Viparyaya, Vikalp, Nidra and Smriti. Ideas related to all objects of the world fall within
these five modifications.

Modifications are five type of Jnanai Pramana is Yathartha Jnana. Viparyaya is Mithya Jnana. Vikalp is only Shabdik Jnana.
Nidra is Abhavjanya Jnana and Smriti is Anubhavjanya Jnana. These modifications are of two types: Klishta and Aklishta, By
cessation of these two types of modifications the yogi attains his own true self,
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Mithya Jnana is:

(1) Viparyaya (2) Pramana
(3) Vikalp (4) Nidra
oo g 2
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